Accounts Theory

Chapter 1 (Unit-1)

Q1) Define accounting. What are the sub-fields of accounting?

Answer: Accounting is the art of recording, classifying, and summarizing in a significant manner and in
terms of money, transactions and events which are, in part at least, of a financial character, and
interpreting the result thereof. Various subfields of accounting are listed as:

YV VVVYVY

Financial Accounting
Management Accounting

Cost Accounting

Social Responsibility Accounting
Human Resource Accounting.

Q2) Who are the users of accounting information?

Answer: Users of accounts can be listed as Investors, Employees, Lenders, Suppliers and Creditors,
Customers, Govt. and their agencies, public and Management.

Q3) Discuss briefly the relationship of accounting with

(i) Economics (ii) Statistics (iii) Law

Answer:

(i) Accounting & Economics:

a.

b.

Accounting overlaps economics in many respects. It contributed a lot in improving the
management decision-making process. But, economic theories influenced the development
of the decision-making tools used in accounting

An example may be given to explain the nexus between accounting and economics.
Economists think that value of an asset is the present value of all future earnings which can
be derived from such assets. Now think about a plant whose working life is more than one
hundred years. How can you estimate future stream of earnings? So accountants developed
the workable valuation base - the acquisition cost i.e., the price paid to acquire the assets.

(ii) Accounting & Statistics

a.

The use of statistics in accounting can be appreciated better in the context of the nature of
accounting records. Accounting information is very precise; it is exact to the last paisa. But,
for decision-making purposes such precision is not necessary and hence, the statistical
approximations are sought.

wherever a need arises for only broad generalizations or the average of relationships,
statistical methods have to be applied in accounting data.

In accountancy, a number of financial and other ratios are based on statistical methods,
which help in averaging them over a period of time. Several accounting and financial
calculations are based on statistical formulae.



(iii)

d. Statistical methods are helpful in developing accounting data and in their interpretation.
For example, time series and cross-sectional comparison of accounting data is based on
statistical techniques.

Accounting & Law:

a. An economic entity operates within a legal environment. All transactions with suppliers and
customers are governed by the Contract Act, the Sale of Goods Act, the Negotiable
Instruments Act, etc. The entity itself is created and controlled by laws. For example, a
company is created by the Companies Act and also controlled by Companies Act.

b. Every country has a set of economic, fiscal and labour laws. Transactions and events are
always guided by laws of the land. Very often the accounting system to be followed has been
prescribed by the law. For example, the Companies Act has prescribed the format of financial
statements for companies

c. Banking, insurance and electric supply undertakings may also have to produce financial
statements as prescribed by the respective legislations controlling such entities.

Q3) Discuss the limitations which must be kept in mind while evaluating the Financial Statements.

Answer: Limitations which must be kept in mind while evaluating the Financial Statements are as
follows:
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The factors which may be relevant in assessing the worth of the enterprise don’t find place in the
accounts as they cannot be measured in terms of money.

Balance Sheet shows the position of the business on the day of its preparation and not on the future
date while the users of the accounts are interested in knowing the position of the business in the
near future and also in long run and not for the past date.

Accounting ignores changes in some money factors like inflation etc.

There are occasions when accounting principles conflict with each other.

Certain accounting estimates depend on the sheer personal judgement of the accountant.

Different accounting policies for the treatment of same item adds to the probability of
manipulations

Q4) What services can a Chartered Accountant provide to the society?

Answer: The practice of accountancy has crossed its usual domain of preparation of financial statements,
interpretation of such statements and audit thereof. Accountants are presently taking active role in
company laws and other corporate legislation matters, in taxation laws matters (both direct and indirect)
and in general management problems.

Some of the services rendered by accountants to the society are briefly mentioned hereunder:
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Maintenance of Books of Accounts

Statutory Audit

Internal Audit

Taxation

Management Accounting and Consultancy Services



> Financial Advice
» Other services like Company Formation, Secretarial work, etc.

Chapter 1 (Unit-2)
Q1) Write short notes on:

a. Fundamental accounting assumptions.
b. Periodicity concept.
c. Accounting conventions

Answers:

a. Fundamental accounting assumptions: There are three fundamental accounting assumptions:
Going Concern; Consistency and Accrual. If nothing has been written about the fundamental
accounting assumption in the financial statements, then it is assumed that they have already been
followed in their preparation of financial statements.

b. Periodicity concept: According to this concept, accounts should be prepared after every period
not at the end of the life of the entity. This is also called the concept of definite accounting period.
Usually, this period is one accounting year. We generally follow from 1st April of a year to 31st
March of the immediately following year.

c. Accounting conventions: Accounting conventions emerge out of accounting practices, commonly
known as accounting principles, adopted by various organizations over a period of time. These
conventions are derived by usage and practice. The accountancy bodies of the world may change
any of the convention to improve the quality of accounting information. Accounting conventions
need not have universal application.

Q2) Distinguish between:

a. Money measurement concept and matching concept
b. Going concern and cost concept

Answer:

a. Distinction between Money measurement concepts and matching concept:
As per Money Measurement concept, only those transactions, which can be measured in terms of
money are recorded. Since money is the medium of exchange and the standard of economic value,
this concept requires that those transactions alone that are capable of being measured in terms of
money be only to be recorded in the books of accounts. Transactions and events that cannot be
expressed in terms of money are not recorded in the business books.

In Matching concept all expenses matched with the revenue of that period should only be taken into
consideration. In the financial statements of the organization if any revenue is recognized them
expenses related to earn that revenue should also be recognized.



b. Distinction between Going concern and cost concept

Going Concern Concept

The financial statements are normally prepared on the assumption that an enterprise is a going
concern and will continue in operation for the foreseeable future. Hence, it is assumed that the
enterprise has neither the intention nor the need to liquidate or curtail materially the scale of its
operations; if such an intention or need exists, it should be disclosed in the financial statements.

Cost concept

By this concept, the value of an asset is to be determined on the basis of historical cost, in other
words, acquisition cost. Although there are various measurement bases, accountants traditionally
prefer this concept in the interests of objectivity

Q3) Briefly explain the qualitative characteristics of the financial statements.

Answer: Qualitative characteristics are the attributes that make the information provided in financial
statements useful to users. The following are the important qualitative characteristics of the financial

statements:
a. Understandability
b. Relevance
c. Reliability
d. Comparability

These are the four principal qualitative characteristics. There are other important qualitative
characteristics as well, such as:
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Materiality

Faithful Representation
Substance over Form

Neutrality

Prudence

Full, fair and adequate disclosure
Completeness




Chapter 1 (Unit-3)

Q1) Define following terms:

a
b.
C
d

Accrual Basis of Accounting
Amortization

Contingent Asset
Contingent Liability

Answer:

a.

Accrual Basis of Accounting

The method of recording transactions by which revenues, costs, assets and liabilities are reflected
in the accounts in the period in which they accrue.

Amortization
The gradual and systematic writing off of an asset or an account over an appropriate period.

Contingent Asset

An asset the existence, ownership or value of which may be known or determined only on the
occurrence or non-occurrence of one or more uncertain future events.

Contingent Liability

An obligation relating to an existing condition or situation which may arise in future depending on
the occurrence or non-occurrence of one or more uncertain future events.




Chapter 1 (Unit-5)
Q1) Differentiate between:

a. Provision and Contingent Liability
b. Liability and Contingent liability.

Answer:
a.

(1) Provision is a present liability of uncertain A Contingent liability is a possible obligation that
amount, which can be measured reliably may or may not crystallize depending on the
by wusing a substantial degree of occurrence or non-occurrence of one or more
estimation. uncertain future events.

(2) A provision meets the recognition criteria = A contingent liability fails to meet the same.

(3) Provision is recognized when (a) an Contingent liability includes present obligations
enterprise has a present obligation arising that do not meet the recognition criteria because
from past events; an outflow of resources either it is not probable that settlement of those
embodying economic benefits is probable, obligations will require outflow of economic
and (b) a reliable estimate can be made of benefits, or the amount cannot be reliably
the amount of the obligation. estimated

(4) If the management estimates that it is If the management estimates, that it is less likely

probable that the settlement of an thatanyeconomic benefit will outflow the firm to
obligation will result in outflow of settle the obligation, it discloses the obligation as
economic benefits, it recognizes a a contingent liability.

provision in the balance sheet.

b. A liability is defined as the present financial obligation of an enterprise, which arises from past
events.
On the other hand, in the case of contingent liability, either outflow of resources to settle the
obligation is not probable or the amount expected to be paid to settle the liability cannot be
measured with sufficient reliability.




Chapter 1 (Unit-6)

Q1) Define Accounting Policies in brief. Identify few areas wherein different accounting policies are
frequently encountered.

Answer: Accounting Policies refer to specific accounting principles and methods of applying these
principles adopted by the enterprise in the preparation and presentation of financial statements.

Policies are based on various accounting concepts. There is no single list of accounting policies, which are
applicable to all enterprises in all circumstances. Enterprises operate in diverse and complex
environmental situations and so they have to adopt various policies. The choice of specific accounting
policy appropriate to the specific circumstances in which the enterprise is operating, calls for considerate
judgement by the management.

Different accounting policies are frequently encountered in the areas like:

a. Valuation of inventory
b. Valuation of Investments
c. Methods of Depreciation

Q2) “Change in accounting policy may have a material effect on the items of financial statements.” Explain
the statement with the help of an example.

Answer: Change in accounting policy may have a material effect on the items of financial statements. For
example, if cost formula used for inventory valuation is changed from weighted average to FIFO. Unless the
effect of such change in accounting policy is quantified, the financial statements may not help the users of
accounts. Therefore, it is necessary to quantify the effect of change on financial statement items like assets,
liabilities, profit/loss.

Chapter 1 (Unit -7)
Q1) Define Measurement in brief. Explain the significant elements of measurement.

Answer: Measurement is vital aspect of accounting. Primarily transactions and events are measured in
terms of money. Three elements of measurement are:

a. Identification of objects and events to be measured;
b. Selection of standard or scale to be used;
c. Evaluation of dimension of measurement standard or scale



Q2) Describe in brief, the alternative measurement bases, for determining the value at which an element
can be recognized in the balance sheet or statement of profit and loss.

Answer: There are four generally accepted measurement bases or valuation principles. These are:

a.

Historical Cost:

[t means acquisition price. For example, the businessman paid Rs. 7,00,000 to purchase the machine
and spend Rs. 1,00,000 on its installation, its acquisition price including installation charges is Rs.
8,00,000. The historical cost of machine would be Rs. 8,00,000.

According to this base, assets are recorded at an amount of cash or cash equivalent paid at the time
of acquisition. Liabilities are recorded at the amount of proceeds received in exchange for the
obligation

Current Cost:

Assets are carried out at the amount of cash or cash equivalent that would have to be paid if the
same or an equivalent asset was acquired currently. Liabilities are carried at the undiscounted
amount of cash or cash equivalents that would be required to settle the obligation currently
Example: Take that Mr. X purchased a machine on 1st January, 2011 at Rs. 7,00,000. As per historical
cost base he has to record it at Rs. 7,00,000 i.e. the acquisition price. As on 1.1.2020, Mr. X found
that it would cost Rs.25,00,000 to purchase that machine. So as per current cost base, the machine
value is Rs. 25,00,000

Realizable Value:

As per realizable value, assets are carried at the amount of cash or cash equivalents that could
currently be obtained by selling the assets in an orderly disposal.

Suppose, Mr. X found that he can get Rs. 20,00,000 if he would sell the machine purchased, on
1.1.2011 paying Rs. 7,00,000 and which would cost Rs. 25,00,000 in case he would buy it currently.
So, the machine should be recorded at Rs. 20,00,000 as per this basis.

Present Value

As per present value, an asset is carried at the present discounted value of the future net cash
inflows that the item is expected to generate in the normal course of business. Liabilities are carried
at the present discounted value of future net cash outflows that are expected to be required to settle
the liabilities in the normal course of business.




Chapter 1 (Unit-8)
Q1) Explain the objective of “Accounting Standards” in brief.

Answer: Accounting Standards are selected set of accounting policies or broad guidelines regarding the
principles and methods to be chosen out of several alternatives.

The main objective of Accounting Standards is to establish standards which have to be complied with, to
ensure that financial statements are prepared in accordance with generally accepted accounting principles.
Accounting Standards seek to suggest rules and criteria of accounting measurements. These standards
harmonize the diverse accounting policies and practices at present in use in India.

Q2) State the advantages of setting Accounting Standards.

Answer: The main advantage of setting accounting standards is that the adoption and application of
accounting standards ensure uniformity, comparability and qualitative improvement in the preparation and
presentation of financial statements. The other advantages are: Reduction in variations; Disclosures
beyond that required by law and Facilitates comparison.

Chapter 1 (Unit-9)
Q1) Explain the need of convergence rather adoption of IFRS as Global Standards.

Answer: The Government of India in consultation with the ICAI decided to converge and not to adopt IFRSs
issued by the IASB. The decision of convergence rather than adoption was taken after the detailed analysis
of IFRSs requirements and extensive discussion with various stakeholders. Accordingly, while formulating
[FRS-converged Indian Accounting Standards (IND AS), efforts have been made to keep these Standards,
as far as possible, in line with the corresponding IAS/IFRS and departures have been made where
considered absolutely essential.

Q2) What is the significance of issue of Indian Accounting Standards? Explain in brief.

Answer: Global Standards facilitate cross border flow of money, global listing in different bourses and
comparability of financial statements. The convergence of financial reporting and accounting standards is
a valuable process that contributes to the free flow of global investment and achieves substantial benefits
for all capital market stakeholders. It improves the ability of investors to compare investments on a global
basis and thus lowers their risk of errors of judgment. It facilitates accounting and reporting for companies
with global operations and eliminates some costly requirements say reinstatement of financial statements.




Other Important Questions
Q1) What do you mean by principal books of accounts?

Answer: Ledger is known as principal books of accounts and it provides full information regarding all the
transactions pertaining to any individual account. Ledger contains all set of accounts (viz. personal, real
and nominal accounts).

Q2) What are the rules of posting of journal entries into the Ledger?
Answer: Rules regarding posting of entries in the ledger:

a. Separate account is opened in ledger book for each account and entries from ledger posted to
respective account accordingly.

b. Itis a practice to use words ‘To’ and ‘By’ while posting transactions in the ledger. The word “To’ is
used in the particular column with the accounts written on the debit side while ‘By’ is used with the
accounts written in the particular column of the credit side. These “To’ and ‘By’ do not have any
meanings but are used to the account debited and credited.

c. The concerned account debited in the journal should also be debited in the ledger but reference
should be of the respective credit account.

Q3) Is cash book a subsidiary book or a principal book? Explain.

Answer: Cash transactions are straightaway recorded in the Cash Book and on the basis of such a record,
ledger accounts are prepared. Therefore, the Cash Book s a subsidiary book. But the Cash Book itself serves
as the cash account and the bank account; the balances are entered in the trial balance directly. The Cash
Book, therefore, is part of the ledger also. Hence, it has also to be treated as the principal book. The Cash
Book is thus both a subsidiary book and a principal book.

Q4) What are the advantages of a three column cash book?
Answer: The advantages of three column Cash Book are that -

a. The Cash Account and the Bank Account are prepared simultaneously, therefore the double entry is
completed in the Cash Book itself. Thus the contra entries can be easily cross-checked in Cash
column in one side and the Bank column in the other side of the Cash Book. Also the chances of error
are reduced.

b. The information regarding Cash in Hand and the Bank Balance can be obtained very easily and
quickly as there is no need to prepare Ledger of the Bank Account



Q5) Briefly explain the following terms:

a. Materiality
b. Conservatism
c. Extraordinary item
d. Floating Charge
e. Accrual Basis of Accounting
Answer:
a. Materiality refers to all relatively important and relevant items, i.e., items the knowledge of which

might influence the decisions of the user of the financial statements are disclosed in the financial
statements.

Conservatism states that the accountant should not anticipate any future income however they
should provide for all possible losses. When there are many alternative values of an asset, an
accountant should choose the method which leads to the lesser value.

Extraordinary items are income or expenses that arise from events or transactions that are clearly
distinct from the ordinary activities of the enterprise and, therefore, are not expected to recur
frequently or regularly.

Floating charge is a general charge on some or all assets of an enterprise which are not attached to
specific assets and are given as security against a debt.

The method of recording transactions by which revenues, costs, assets and liabilities are reflected
in the accounts in the period in which they accrue.

Q6) "The cost of Property, Plant and Equipment comprises of any cost directly attributable to bring the
asset to the location and condition necessary for it to be capable of operating in a manner intended by the
enterprise”. Give any five examples of such 'directly attributable costs'.

Answer: Cost of Property, Plant and Equipment comprise of any cost directly attributable to bring the asset
to the location and condition necessary for it to be capable of operating in a manner intended by the
enterprise. Examples of directly attributable costs are:

a.

® o 0T
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g.

h.

Cost of employee benefits arising directly from acquisition or construction of an item of property,
plant and equipment.

Cost of site preparation

Initial delivery and handling costs

Installation and assembly costs

Cost of testing whether the asset is functioning properly, after deducting the net proceeds from
selling the items produced while testing (such as samples produced while testing)

Professional fees e.g., engineers hired for helping in installation of a machine

Transportation cost

Trial run expenses

Thus, all the expenses which are necessary for asset to bring it in condition and location for desired use
will become part of cost of the asset.



Q7) Explain Cash and Mercantile system of accounting

Answer: Cash and mercantile system:

Cash system of accounting is a system by which a transaction is recognized only if cash is received or paid.
In cash system of accounting, entries are made only when cash is received or paid, no entry being made
when a payment or receipt is merely due. Cash system is normally followed by professionals, educational

institutions or non-profit making organizations.

On the other hand, Mercantile system of accounting is a system of classifying and summarizing transactions
into assets, liabilities, equity (owner’s fund), costs, revenues and recording thereof. A transaction is
recognized when either a liability is created/ impaired and an asset is created /impaired. A record is made
on the basis of amounts having become due for payment or receipt irrespective of the fact whether
payment is made or received actually. Mercantile system of accounting is generally accepted accounting

system by business entities

Important Questions (Already discussed during practical classes)

Q8) Discuss the rules if there is no Partnership Agreement.

Answer: As per the Indian Partnership Act, 1932, in the absence of any agreement among the partners,

© a0 o

No partner has the right to a salary,
No interest is to be allowed on capital,

No interest is to be charged on the drawings,
Interest at the rate of 6%. p.a. is to be allowed on a partner’s loan to the firm, and

Profits and losses are to be shared equally

Q9) Periodic Inventory System Vs Perpetual Inventory System

This system is based on physical verification.

1

It is based on book records.

This system provides information about
inventory and cost of goods sold at a
particular date.

It provides continuous information about inventory
and cost of sales.

This system determines inventory and takes
cost of goods sold as residual figure.

It directly determines cost of goods sold and
computes inventory as balancing figure.

Cost of goods sold includes loss of goods as
goods not in inventory are assumed to be

Closing inventory includes loss of goods as all unsold
goods are assumed to be in Inventory.

sold.
Under this method, inventory control is not | Inventory control can be exercised under this
possible. system.

This system is simple and less expensive.

It is costlier method.

Periodic system requires closure of business
for counting of inventory.

Inventory can be determined without affecting the
operations of the business.




Q10) Discuss the factors taken into consideration for calculation of depreciation.
Answer: Following factors are taken into consideration for calculation of depreciation.

a. Cost of Asset: Cost of a depreciable asset represents its money outlay or its equivalent in
connection with its acquisition, installation and commissioning as well as for additions to or
improvement thereof for the purpose of increase in efficiency.

b. Estimated useful life of the asset - Useful Life’ is either (i) the period over which a depreciable
asset is expected to be used by the enterprise or (ii) the number of production or similar units
expected to be obtained from the use of the asset by the enterprise. Determination of the useful
life is a matter of estimation and is normally based on various factors including experience with
similar type of assets. Several other factors like estimated working hours, production capacity,
repairs and renewals, etc. are also taken into consideration on demanding situation.

c. Estimated Residual value: If such value is considered as insignificant, it is normally regarded as
nil. On the other hand, if the residual value is likely to be significant, it is estimated at the time of
acquisition/installation, or at the time of subsequent revaluation of asset.

Q11) What is petty cash book? Write it's any two advantages.

Answer: In a business house a number of small payments, such as for taxi fare, cartage, etc., have to be
made. If all these payments are recorded in the cash book, it will become unnecessarily heavy. Also, the
main cashier will be overburdened with work. Therefore, it is usual for firms to appoint a person as ‘Petty
Cashier’ and to entrust the task of making small payments. of-course he will be reimbursed for the
payments made.

Imprest system of petty cash is followed, under this system a fixed sum of money is given to petty cashier
for meeting expenses for a prescribed period.

Advantages of Petty cash book are:

a. Saving of time of the chief cashier
b. Saving in labour in writing up the cash book and posting into the ledger
C. Control over small payments

YouTube Channel: https://www.youtube.com/channel/UCuNVVDzXhLPN7ypU91a7fkQ

Telegram Group: https://t.me/targetcafoundation
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UNIT - 4 CAPITAL AND REVENUE EXPENDITURES AND RECEIPTS

LLEARNING OUTCOMES J

After studying this unit, you will be able to:

. Learn the criteria for identifying Revenue Expenditure and distinguishing from Capital
Expenditure
. Learn the distinction between capital and revenue receipts.

*

Understand the linkage of such distinction with the preparation of final accounts.

UNIT OVERVIEW 7|

+ Payments
* Receipts

+ Payments
* Receipts

(W 41 INTRODUCTION

Accounting aims in ascertaining and presenting the results of the business for an accounting period. For
ascertaining the periodical business results, the nature of transactions should be analyzed whether they are of
capital or revenue nature. The Revenue Expense relates to the operations of the business of an accounting period
or to the revenue earned during the period or the items of expenditure, benefits of which do not extend beyond
that period. Capital Expenditure, on the other hand, generates enduring benefits and helps in revenue generation
over more than one accounting period. Revenue Expenses must be associated with a physical activity of the
entity. Therefore, whereas production and sales generate revenue in the earning process, use of goods and



that period. Capital Expenditure, on the other hand, generates enduring benefits and helps in revenue generation
over more than one accounting period. Revenue Expenses must be associated with a physical activity of the
entity. Therefore, whereas production and sales generate revenue in the earning process, use of goods and
services in support of those functions causes expenses to occur. Expenses are recognised in the Profit & Loss
Account through matching principal which tells us when and how much of the expenses to be charged against
revenue. A part of the expenditure can be capitalised only when these can be traced directly to definable streams
of future benefits.

The distinction of transaction into revenue and capital is done for the purpose of placing them in Profit and Loss
account or in the Balance Sheet. For example: revenue expenditures are shown in the profit and loss account as
their benefits are for one accounting period i.e. in which they are incurred while capital expenditures are placed

© The Institute of Chartered Accountants of India

“ PRINCIPLES AND PRACTICE OF ACCOUNTING

on the asset side of the balance sheet as they will generate benefits for more than one accounting period and will
be transferred to profit and loss account of the year on the basis of utilisation of that benefit in particular accounting
year. Hence, both capital and revenue expenditures are ultimately transferred to profit and loss account.

Revenue expenditures are transferred to profit and loss account in the year of spending while capital expenditures
are transferred to profit and loss account of the year in which their benefits are utilised. Therefore we can conclude
that it is the time factor, which is the main determinant for transferring the expenditure to profit and loss account.
Also expenses are recognized in profit and loss account through matching concept which tells us when and how
much of the expenses to be charged against revenue. However, distinction between capital and revenue creates a
considerable difficulty. In many cases borderline between the two is very thin.

Q 4.2 CONSIDERATIONS IN DETERMINING CAPITAL AND REVENUE
EXPENDITURES

The basic considerations in distinction between capital and revenue expenditures are:

(a) Nature of business: For a trader dealing in furniture, purchase of furniture is revenue expenditure but
for any other trade, the purchase of furniture should be treated as capital expenditure and shown in the
balance sheet as asset. Therefore, the nature of business is a very important criteria in separating an
expenditure between capital and revenue.

(b) Recurring nature of expenditure: If the frequency of an expense is quite often in an accounting year
then it is said to be an expenditure of revenue nature while non-recurring expenditure is infrequent in
nature and do not occur often in an accounting year. Monthly salary or rent is the example of revenue
expenditure as they are incurred every month while purchase of assets is not the transaction done
regularly therefore, classified as capital expenditure unless materiality criteria defines it as revenue
expenditure.

(c) Purpose of expenses: Expenses for repairs of machine may be incurred in course of normal maintenance
of the asset. Such expenses are revenue in nature. On the other hand, expenditure incurred for major
repair of the asset so as to increase its productive capacity is capital in nature. However, determination
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of the asset. Such expenses are revenue in nature. On the other hand, expenditure incurred for major
repair of the asset so as to increase its productive capacity is capital in nature. However, determination
of the cost of maintenance and ordinary repairs which should be expensed, as opposed to a cost which
ought to be capitalised, is not always simple.

(d) Effect on revenue generating capacity of business: The expenses which help to generate income/
revenue in the current period are revenue in nature and should be matched against the revenue earned in
the current period. On the other hand, if expenditure helps to generate revenue over more than one
accounting period, itis generally called capital expenditure.

When expenditure on improvements and repair of a fixed asset is done, it has to be charged to Profit
and Loss Account if the expected future benefits from fixed assets do not change, and it will be included in
book value of fixed asset, where the expected future benefits from assets increase.

(e) Materiality of the amount involved: Relative proportion of the amount involved is another important
consideration in distinction between revenue and capital.
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O 4.3 CAPITAL EXPENDITURES AND REVENUE EXPENDITURES

As we have already discussed, capital expenditure contributes to the revenue earning capacity of a business over
more than one accounting period whereas revenue expense is incurred to generate revenue for a particular
accounting period. The revenue expenses either occur in direct relation with the revenue or in relation with
accounting periods, for example cost of goods scld, salaries, rent, etc. Cost of goods sold is directly related to
sales revenue whereas rent is related to the particular accounting period. Capital expenditure may represent
acquisition of any tangible orintangible fixed assets for enduring future benefits. Therefore, the benefits arising out
of capital expenditure last for more than one accounting period whereas those arising out of revenue expenses
expire in the same accounting period.

{(z)" ILLUSTRATION 1

State with reasons whether the following statements are ‘True’ or ‘False’.

(1) Qverhaul expenses of second-hand machinery purchased are Revenue Expenditure. F_gj@z_
* (2) Money spent to reduce working expenses is Revenue Expenditure. FG lse

(3) Legal fees to acquire property is Capital Expenditure.T;wc.

-
(4) Amount spent as fawyer's fee to defend a suit claiming that the firm's factory site befonged to the plaintiff's

land is Capital Expenditure. False 2
~ c,U -
frgj Amount spent for replacement of worn out part of machine is Capital Expenditure. FC\ ‘K



*/

1)
(6)

)
* {8)

ANUUNIL QMGHE dO ISV YT O IBE LU UCIGHU o QUL WIGHTINIY UIal UG INHE S 1 LU Y OHE UBIVTIYEU LU H1IG EJGIHUH 2
—— —

fand is Capital Expenditure. False

~ QU -
Amount spent for replacement of worn out part of machine is Capital Expenditure. F-C\ ‘sc

Expense incurred on the repairs and white washing for the first time on purchase of an old building are
Revenue Expenses,CQP j_rxl" F 9n’r°“j‘\9}—'

Expenses in connection with oblaining a license for running the cinema is Capital Expenditure. ﬁ’}w&

Amount spent for the construction of temporary huts, which wer for construction of the
Cinema House and were demofished when the cinema house was réady, 1 Capital Expenditure. Thwe

@ SOLUTION

(1)

(2)

(3)

(4)

False: Overhaul expenses are incurred to put second-hand machinery in working condition to derive
endurable long-term advantage. So it should be capitalised.

False: It may be reasonably presumed that money spent for reducing revenue expenditure would have
generated long-term benefits to the entity. It becomes part of intangible fixed assets if it is in the form of
technical know-how and tangible fixed assets if it is in the form of additional replacement of any of the
existing tangible fixed assets. So this is capital expenditure.

True: Legal fee paid to acquire any preperty is part of the cost of that property. It is incurred to possess
the ownership right of the property and hence a capital expenditure.

False: Legal expenses incurred to defend a suit claiming that the firm's factory site belongs to the plaintiff
is maintenance expenditure of the asset. By this expense, neither any endurable benefit can be obtained
in future in additicn to that what is presently available nor the capacity of the asset will be increased.
Maintenance expenditure in relation to an asset is revenue expenditure.
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(5)

(6)

{7)

(8)

False: Amount spent for replacement of any worn out part of a machine is revenue expense since it is
part of its maintenance cost.

False: Repairing and white washing expenses for the first time of an old building are incurred to put the
building in usable condition. These are the part of the cost of building. Accordingly, these are capital
expenditure.

True: The Cinema Hall could not be started without license. Expenditure incurred to obtain the license
is pre-operative expense which is capitalised. Such expenses are amortised over a period of time.

True: Cost of temporary huts constructed which were necessary for the construction of the cinema house
is part of the construction cost of the cinema house. Therefore such costs are to be capitalised.

()" ILLUSTRATION 2

State with reasons whether the folfowing are Capital or Revenue Expenditure:



{(?) ILLUSTRATION 2

State with reasons whether the following are Capital or Revenue Expenditure:

“#) Expenses incurred in connection with obtaining a license for starting the factory for <10, OGU.CQP é?

(2) < 1,000 paid for removal of Inventory to a new sife. Rw-?_x\)
(3) Rings and Pistons of an eng:'ne were changed at a cost of ?5 000 to get fuel efficiency. 'G}P E/{)
#(4) Money paid to Mahanagar Telephone Nigam Lid. (MTN ¢ 8,000 for installing refephone in the office. - Cﬁ\’-'&np

pi-og A factory shed was constructed at a cost of € 1 OO 000.'A sum of ¥5,000 had been incurred in the
construction of temporary huts for storing building material. - Cpr? ?,xp

) SOLUTION

{1) Money paid ¥ 10,000 for obtaining license to start a factory is a capital expenditure. This is an item of
expenditure incuired to acquire the right to carry on business.

{2) ¥ 1,000 paid for removal of Inventory to a new site is revenue expenditure. This is neither bringing
enduring benefit nor enhancing the value of the asset.

(3) T 5,000 spent in changing Rings and Pistons of an engine to get fuel efficiency is capital expenditure.
This is an expenditure on improvement of a fixed asset. It results in increasing profit-earning capacity of
the business by cost reduction.

4) Money deposited with MTNL for installation of telephone in office is not expenditure. This is treated as an
asset and the same is adjusted over a period of time against actual telephone bills.

(5) Cost of construction of building including cost of temporary huts is capital expenditure. Building is fixed
asset which will generate enduring benefit to the business over more than one accounting period.
Construction of temporary huts is incidental to the main construction. Such costis also capitalised with the
cost of building.

Q 4.4 CAPITAL RECEIPTS AND REVENUE RECEIPTS

Just as a clear distinction between Capital and Revenue expenditure is necessary, in the same manner capital
receipts must be distinguished from revenue receipts.
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Receipts which are obtained in course of normal business activities are revenue receipts (e.g. receipts from sale
of goods or services, interest income etc.). On the other hand, receipts which are not revenue in nature are capital
receipts (e.g. receipts from sale of fixed assets or investments, secured or unsecured loans, owners’ contributions
etc.). Revenue and capital receipts are recognised on accrual basis as soon as the right of receipt is established.
Revenue receipts should not be equated with the actual cash receipts. Revenue receipts are credited to the Profit
and Loss Account.
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Revenue receipts should not be equated with the actual cash receipts. Revenue receipts are credited to the Profit
and Loss Account.

On the other hand, Capital receipts are not directly credited to Profit and Loss Account. For example, when a
fixed asset is sold for ¥ 92,000 {cost ¥ 90,000}, the capital receipts ¥ 92,000 is not credited to Profit and Loss
Account. POMZ Profit PS Loss on sale of fixed assets is calculated and credited to Profitand Loss Account as follows:

Sale Proceeds T 982,000
Cost (¥ 90.000
Profit % 2,000

() ILLUSTRATION 3

Good Pictures Ltd., constructs a cinema house and incurs the folfowing expenditure during the first year ending
31st March, 2020. / » >

o) Second-hand furniture worth & 9,000 was purchased; repainting of the furniture costs &1,000. The
furniture was installed by own workmen, wages for this being ¥200. » _CQ_P -10200 G &P

(2) Expenses in connection with obtaining a license for running the cinema worth ¢ 20,000. During the
course of the year the cinema company was fined < 1,000, for contravening rufes. Renewal fee 2,000

for next year also pard‘,/ Rev-EXR = Qw- Rcr;_&gr

——1

(3) Fire insurance, ¥1,000 was paid on 1st October, 2019 for one year.

{4) Temporary huts were constructed costing € 1,200. They were necessary for the construction of the
cinema. They were demolished when the cinema was ready. — COf &\)

Point out how you would classify the above items.
{{v) soLuTioN

{1) The total cost of the furniture should be treated as ¥ 10,200 i.e., all the amounts mentioned should be
capitalised since without such expenditure the furniture would not be available for use. If T 1,000 and ¥
200 have been respectively debited to the Repairs Account and the Wages Account, these accounts will be
credited to the Furniture Account.

(2) License for running the cinema house is necessary, hence its cost should be capitalised. But the fine of
T 1,000 is revenue expenditure. The renewal fee for the next year is also revenue expenditure but pertains
to the next year; hence, itis a prepaid expense.

(3) Half of the insurance premium pertains to the year beginning on 1st April, 2020. Hence such amount
should be treated as prepaid expense. The remaining amount is revenue expense for the current year.

{4) Since the temporary huts were necessary for the construction, their cost should be added to the cost of the
cinema hall and thus capitalised.
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{(z) ILLUSTRATION 4

State with reasons, how you would cfassify the following ffems of expenditure:

(1) Overhauling expenses of 25,000 for the engine of a motor car fo get better fuel efficiency. COF EK\’

(2) Inauguration expenses of ¥ 25 lacs incurred on the opening of a new manufacturing unit in an existing
business. — Rev £xp
*3) Compensation of <2, 5 crores paid to workers, who opted for voluntary retirement. Rev.
{(v) soLuTION

{1) Overhauling expenses are incurred for the engine of a motor car to derive better fuel efficiency. These
expenses will reduce the running cost in future and thus the benefit is in form of endurable long-term
advantage. So this expenditure should be capitalised.

{(2) Inauguration expenses incurred on the opening of a new unit may help to explore more customers This
expenditure is in the nature of revenue expenditure, as the expenditure may not generate any enduring
henefit to the business over more than one accounting period.

(3) The amount paid to workers on voluntary retirement is in the nature of revenue expenditure. Since the
magnitude of the amount of expenditure is very significant, it may be better to defer it over future years.

{() ILLUSTRATION 5

Classify the folfowing expenditures and receipts as capital or revenue; _ Capéxp
) ¥ 10,000 spent as travelling expenses of the directors on trips abroad for purchase of capital assets.

(if) Amount received from Trade receivables during the year. Rw‘gm.

(ifi) Amount spent on demolition of building fo construct a bigger building on the same site. Cor i x\)

(iv) Insurance claim received on account of a machinery damaged by fire. - CQP&Q

(@) soLuTioN

(i) Capital expenditure.
(i) Revenue receipt.
i) Capital expenditure.
{iv) Capital receipt.
® ILLUSTRATION 6

Are the folfowing expenditures capital in nature?

(i} M/s ABC & Co. run a restaurant. They renovate some of the ofd cabins. Because of this renovation some
space was made free and number of cabins was increased from 10 to 13. The total expenditure was

20,000. @‘) \Qw.cch Cgi; :
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(if) M/s New Dethi Financing Co. sold certain goods on instalment payment basis. Five customers did not
pay installments. To recover such outstanding instaliments, the firm spent &10.000 on account of legal

expenses. — e\t-&‘)

(ifi) M/s Ballav & Co. of Dethi purchased a machinery from M/s Shah & Co. of Ahmedabad. M/s Ballav & Co.
spent < 40,000 for transportation of such machinery. The year ending is 31st Dec, 2018. CEE &x\)

() soLuTION
(i) Rencvation of cabins increased the number of cabins. This has an effect on the future revenue generating
capability of the business. Thus, the rencvation expense is capital expenditure in nature.

i) Expense incurred to recover installments due from customer do not increase the revenue generating
capability in future. It is a normal recurring expense of the business. Thus, the legal expenses incurred in
this case is revenue expenditure in nature.

(i) Expenses incurred on account of transportation of fixed asset is capital expenditure in nature.

SUMMARY

+ Revenue expenditures are shown in the profit and loss account while capital expenditures are placed on
the asset side of the balance sheet since they generate benefits for more than are accounting period.

+ Prepaid expenses are future expenses that have been paid in advance. These are shown in the balance
sheet as an asset.

+ Receipts obtained should be classified between revenue receipts and capital receipts.

TEST YOUR KNOWLEDGE

True and False

1. The nature of business is not an important criteria in separating an expenditure between capital and
revenue. False

Ca
27 Expenditure incurred for major repair of the asset so as to increase its productive capacity is Reve‘r)we
in nature. False

3. Amount spent as lawyer's fee to defend a suit claiming that the firm’s factory site belonged to the
plaintiff's land is Capital Expenditure. False.

v ) ) R_tU‘ ) - \
Amount spent for replacement of worn out part of machine is Capital Expenditure. fFale

Legal fees to acquire property is Capital Expenditure. Dwe

X &\

Amount spent for the construction of temporary huts, which were necessary for construction of the
cinema house and were demolished when the cinema house was ready, is Capital Expenditure.T)wG-

Multiple Choice Questions

ol
1. Money spent X 10,000 as traveling expenses of the directors on trips abroad for purchase of capital assets is
.45-)/Capital expenditures (b) Revenue expenditures

(c) Prepaid revenue expenditures



—HT Lapital expenaiures (D) Kevenue expenaiures

(c) Prepaid revenue expenditures
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2. Amount of ‘E'_Q,Q@pent as lawyers’fee to defend & suit claiming that the firm's factory site belonged to the
plaintiff's land is
(a) Capital expenditures .,Lb)/ Revenue expenditures
(c) Prepaid revenue expenditures
3. Entrance fee of {@@ received by Ram and Shyam Social Club is
Capital receipt (b} Revenue receipt

(c) Capital expenditures

4, Subsidy of X 40,000 received from the government for working capital by a manufacturing concernis

(a) Capital receipt M Revenue receipt
c Capital expenditures
( ) p p 'CGP RCG— /A R‘“ '&_"
@ Insurance claim received on account of !judﬁ|3nuer\+0!] -
‘,Qa')/ Capital receipt ()} Revenue receipt
{c) Capital expenditures

6. Interest on investments received from

rd e LA,
(a) Capital receipt .a&fr Revenue receipt
{c) Capital expenditures 3 Cap Rew - T Lidb

y Amount received from IDBI as a medium term loan for augmenting working capital is
(a) Capital expenditures (b) Revenue expenditures

V(e)/ Capital receipt

8.~ Revenue from sale of products, ordinarily, is reported as part of the earning in the period in which

The sale is made. (b} The cash is collected.
{c) The products are manufactured.

./
,9./ If repair cost is ¥ 25,000, whitewash expenses are 5 fﬁ (both these expenses relate to presently used

building) cost of extension of building is X 2,50,000 and cost of improvement in electrical wiring system is
$19,000; the amount to be expensed is

(8)  2,99,000.  Exp (b) 44,000,

s % 30,000,

e



(8 299,000, = (b) 744000
s % 30,000,

Theoretical Questions

X ——*

1. What are the basic considerations in distinguishing between capital and revenue expenditures?

2. Define revenue receipts and give examples. How are these receipts treated?

© The Institute of Charterced Accountants of India
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ANSWERS/HINTS

True and False

1. False: The nature of business is a very important criteria in separating an expenditure between capital
and revenue. For example- For a trader dealing in furniture, purchase of furniture is revenue expenditure
but for any other trade, the purchase of furniture should be treated as capital expenditure and shown in
the balance sheet as asset. .

2. False: Expenditure incurred for major repair of the asset so as to increase its productive capacity is
capital in nature.

3. False: Legal expenses incurred to defend a suit claiming that the firm's factory site belongs to the plaintiff
is maintenance expenditure of the asset. By this expense, neither any endurable benefit can be obtained
in future in addition to that what is presently available nor the capacity of the asset will be increased.
Maintenance expenditure in relation to an asset is revenue expenditure.

4, False: Amount spent for replacement of any worn cut part of a machine is revenue expense since it is
part of its maintenance cost.

5. True: Legal fee paid to acquire any property is a part of cost of that property. It is incurred to possess
the ownership right of the property and hence a capital expenditure.

6. True: Since temparary huts were necessary for the construction, their cost should be added to the cost
of the cinema hall and thus capitalised.

Multiple Choice Questions

1 (@), 2 (), 3 (@), 4 (b), 5 (@ 6 (b),
7 (¢, 8 (@), 9 {c)

Theoretical Questions

1. The basic considerations in distinction between capital and revenue expenditures are;



Ineoretical Questions

1. The basic considerations in distinction between capital and revenue expenditures are:
(a) Nature of business.
(b) Recurring nature of expenditure.
(c) Purpose of expenses.
(d) Effect on revenue generating capacity of business.
(e) Materiality of the amountinvolved.
2. Receipts which are obtained in course of normal business activities are revenue receipts (e.g. receipts

from sale of goods or services, interest income etc.).

Revenue receipts should not be equated with the actual cash receipts. Revenue receipts are credited to
the Profit and Loss Account.
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May -2021

Capital or Revenue Expenditure
(b) Classify each of the following transactions into capital or revenue transactions:

—

Inauguration expenses of a new manufgﬁn ﬂ ng unit in an existing Business. - Qe\i&ir
S|
Installation of a new central heating system.— _@_‘o

Repainting of a delivery van. - gw. P] ok
Providing drainage for a new piece of water-extraction equipment.- G‘;\Q
Legal fees on the acquisition of land. — Cﬁb

=" Carriage costs on a replacement part for a piece of machinery. - Rg\l.

Nov-2021

Capital or Revenue Expenditure
Classify each of the following transactions into capital or revenue transactions:

(b)

May-2022

Legal fees on the acquisition of land. - Cﬂ"

Complete repaint of existing building.- Re\ .

Repainting of a delivery van. - Rev:

Providing drainage for a new piece of water-extraction equipment.””
Carriage costs on a replacement part for a piece of machinery. -

Capital or Revenue Expenditure
(b) Classify the following expenditures as capital or revenue expenditure:
(i) An extension of railway tracks in the factory area. - GJP&&‘

(i) Amount spent on painting the factory. gw-

(i) Payment of wages for building a new office extension. COP
(iv) Amount paid for removal of stock to a new site. — Rgu.
(v) Rings and Pistons of an engine were changed to get full efficiency- Co\)




Nov-2022

Capital or revenue expenditure
(b) Classify the following expenditures as capital or revenue expenditure:
(i) Expenses incurred to keep the machine in working condition. - RW-
(i) Reaistration fees paid at the time of purchase of a building. C_qp_
(ili) Expenses incurred for advertisement in newspaper. - ecu
(iv) Amount spent on renewal fee of patent rights. Rt,\i

4V) Cost of repairs on second-hand car purchased to bring it into working
condition. CG‘) -

June-2023

Capital or revenue expenditure
(b) Classify the following expenditures as capital or revenue expenditure: l B
() Insurance claim received on account of inventory damaged by f fire. - RN RCWP\‘

(#r  Amount spent as lawyer's fee to defend a suit claiming that the firm's factory
site belonged to the plaintiff's land. - RN-

" Travelling expenses of the chief financial officer on trips abroad for purchase
of special machinery— Cu‘a ‘: et

(iv) Dividend received from XYZ limited during the year. qu 3

Dec 2023

Capital or Revenue Receipt or Expenditure

(b) Classify the following expenditures as capltal or revenue receipt or capital or
revenue expenditure:

(i) Traveling expenses of the chief executive officer for trips abroad for purchase
of capital assets. - Cap €xp exih

#_~1ii) Amount spent on making a few more exists in a Cinema Hall to comply with
Government orders. ReV-

(iii) Insurance claim received on account of inventory damaged by fire. Rw. Qu_

(iv) Amount paid for removal of stock to a new site. Rev &xp

v Cost of repairs on second-hand car pu:dyd to bring it into working
condition. 5

x— Chq‘)-\re\’ oV ey —x

\9_?3’] - e’_—_——_—_—:MCJJ‘ -
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True/False

.~ 1) Issue of Debentures

True and False

‘\'1.

Q=

Q,c.n“'(/ 3.
A4,

Shareholden Cleditors
Debenture holder are the owners of the company. false

'Perpetual debentures are payable at the time of hguldahon of the company. - cjfuc

ran|er deed

> Fals

When companies issue their own debentures as collateral security for a loan, theeli;lo!de: of such
debenture is entitled to mterest onI on the amount of loan and not on the debentures- Jrue

Debit ba /——HJ'
Debentures suspense account appears on liability side of balance sheet. - False

feare
Reg|stered debentures are transferable by delivery.

If a company incurs loss, then it does not pay interest to the del:|enture"ﬁo‘.‘:i_i;E False
At the time of liquidation, debenture holders are paid off after the shareholders. Folse
Convertible debentures can be converted into equ_itys_rmres.T’w‘-

Reéeemgbie debentures are not payable during the life time of the company. False

Debefi}ures can be issued for a consideration other than for cash, such as for purchasing land, maﬂﬂnery
C. Inve

2] Issue, Forfeiture & Re-issue of Shares

True and False

£
¥_2.
.3,
!
B
-6.
7.

8.
8

AQ.

Fv-id Dssue-Q0

Assue
Liability of a holder of shares is limited to the face value of shares acquired by them. Mlsc

T 3
Authorised capital appears in the balance sheet at face value. - V¢

—

The rate of dividend on preference shares may vary From year to year. i:;lse

A company may issue shares at a discount to the public in general. -?ﬂ'lu : 5"““"“'1-"';".‘

Sweat equity shares are those which are issued to employees & directors at a discount. € ave

As per table F, rate of interest on calls in arrears is 12%.°"- Falv

As per Table F, rate of interest on calls in advance is ’Ir?]":/; -Fake
Non-participating preference shareholders enjoy voting rights. Falic
Forfeited shares are available to the company for the purpose of resale Trve

Loss on reissue should exceed the forfeited amount. Falsc
net



4 3) Introduction to Company Accounts

True and False

* 1
o~
- 3.
- 4.
5.
6.
Pl
P
”~ 9.

-~

Every publi_c_cémpany is a listed company. rt:a\sc

Shares of a private company are not listed on stMange.Tm

Itis not mandatory to incorporate a company under the companies act. talse

Company is an artificial, legal person created by law. Frve

Death, insolvency or e of members affects the existence of a company. False

If the shares are/fully paid-yp by the shareholder, he is subject to no further IiabiIity.T;vc
Public limited company has restrictions on transferability of shares. False

Financial statements of company show the financial position of the business. froe

Schedule | gives proforma of Balance Sheet. - False
Schedue 11,



4) Non-Profit Organizations

True and False

1.

>

13
14.

- 15.

oy

- 18.
- 19.
~20.

: - Cash
The Receipts and payment account for a non-profit organization follows the accrual concept of
accounting. - False
9 - Rcvmw nature P
Both the revenue and capital nature transactions are recorded in the Incgn_'le and expenditure account - Halse

Sale of grass by a sports club is to be treated as sale of an asset. i:d\s;

= , . Curient Assk
Subscriptions outstanding for the current year are disclosed under the Fixed assets side of the Balance
sheet.- False

Receipts and payments account gives the details about the expenses outstanding for the year.- i_‘g_he

Adjustments in the forrn_ of additional information shall be adjusted in the final accounts of a Non- profit
organisation only in one place. False

Two
Tournament expenses incurred are more than the Tournament fund, then the excess to be shown as an

asset in the closing Balance sheet. Fa o L6

For Non-profit organisation, Excess of income over expenditure in the Income and Expenditure account
is termed as profit.- Suipha- Fabe Cap fumd +

e PR
Surplus of non-profit organizations is distributed among its members.ft?-h»¢

Tournament fund, building fund, Isi{brar‘( fund is based on the fund based accounting.- ff)wc
equlQy

- Q
Subscription fees refers to the one-‘?ime fees paid by the members to get admission for the benefits of
the club.- False

Token payment made to a person, who voluntarily undertakes a service which would normally be paid
in case of profitable organization is terme?d as Honorarium.- 1%

. 1S —
An Insurance company is an example of noh-profit organization.- False

Part amount of entrance fees which is to be capitalized shall be disclosed in the income and expenditure
account.- Folse Cap |lund + "‘

Both the income and expenditure of the current and the previous year are recorded in the Income and
Expenditure account. - Fals

Amount received as donation by an Non-profit organisation under the will of a deceased person is termed
as legacy. - f]fur.,

Where a Non-profit organisation has a separate trading activity, the profit/loss from the trading account
shall be transferred to Income and Expenditure Account at the time of consolidalionTme

Not for profit concerns concenxite their efforts to maximize the profit earning avenues. ralse
— CapieN T g
All the receipts are of revenuPe nature in case of Non-profit organisation. - Falsc

There is opening balance of Income and expenditure account. pctl"-
L Nominad




5) Death of a Partner

True and False

Business of partnership comes to an end on death of a partner. - Cﬂ\s‘-
a
Legal heir of a deceased partner automatically becomes partner in the firm.- False
A revaluation account is opened in the books of accounts on death of a partner. Save

Any reserve appearing in the balance sheet on the date of death of a partner is transferred to all partners
capital account in their profit sharing ratio- Trve -

Legal heirs of a deceased partner are entitled to his capital account balance only. - f:alsc.

It is not necessary to adjust goodwill on death of a partner. Cﬂ\-‘-c

On dg.#ﬂaa_rtner continuing partners can agree to change their capital contribution and profit sharing
hwe

ratio.
- Sum casvred g, L0
On death of a partner, the firm gets surrender value of the joint life policy. alse

Only legal heirs of deceased partner are entitled to amount received from joint life policy.- T—\O‘sc
Al +he Pcﬂwg__e__rs

6) Retirement of a Partner

True and False

=2

-

/4.

Y.

a7
-~ 8.

s !
~10.

Business of a partnership has to be closed if any one of the partners retires. - Qﬂsc

At the time of retirement of a partner no special treatment is required fs appearing in the

Balance Sheet.- False
m
After retirement of a partner, profit sharing ratio of continuing partners remains the same. l'alsc
If any partner wants to retire from the business, he must retire on 1st day of the accounting year.(;ﬁ\ﬂ
s is enfifled iy
Retiring partner has to forego his share of goodwill in the firm. FOLH:,

If a partner retires in between the accounting year then he is not entitled to any profit from the date of
beginning of the year till his date of retirement.- Fal

ue
If the firm has taken any joint life policy then it is to be surrendered at the time of retirement of a partner.

F
Any joint life policy reserve appearing in the Balance Sheet is to all the partners in their old
profit sharing ratio. [ swe

No revaluation account is necessary on retirement of a partner. Folse

Profit on revaluation is credited to continuing partners, retiring partner intitled to any profit on
revaluation. False ol the




7) Admission of a Partner

True or False

11.
2.

A newly admitted partner does not have same rights as old partners. +alc

When a new partner is admitted, old partners have to @. certain share in profits of the firm, this is
called as sagjﬁqe_rg_tj_q.Tma

Revaluation account is also called as Profit and Loss Adjustment Account. freve

Any aﬁ@:ﬁ_ﬁ_@_n in the value of an asset is credited to Revaluation account ITve.

e e Memaorandum
All the partners may decide not to change the values of assets and liabilities in the books of accounts. 'fJ'wc
ngr is entitled to have share in reserves appearing in the balance sheet prior to his admission.palsc.
If revaluation_account shows credit balance then it represgnts profit and therefore it is credited to all

partners f_i_"\- Fabe ~ Ao

New partner brings necessary amount as his capital. - xue.

New partner is entitled to share in revaluation profit. -FQ'lsc
old PQ( Men

8] Treatment of Goodwill

True and False Mcodr
- S Y \
1: Goodwill is intangible asset therefore it cannot be valued.” ¥ @'5¢
2 Goodwill is valued whenever there is change in the profit sharing ratio among the partnersffwc
S Goodwill is the value of reputation of a firm in respect of profits expected in future over and above the
normal rate of profits. True Groodwid O
< 4 At the time of admission or retirement of a partner, goodwill can be raised in the books of accounts and
shown as an asset. — False »
—— e (q
5. Only simple average method can be used for valuation of goodwill.- False
~B. Super profit means excess of actual average profit over normal proﬁt.'ff"'f. AP- NP
=
gl Normal profit means profit earned by similar companies in the same industry. - I1fue
=
its. NP~ Cap Emp X NRR
*38. Normal profit depends upon Normal Rate of Return and past profits. Calue p emp
~9. At the time of admission/retirement of a partner, since goodwill can not be raised in the books of accounts
is recorded through capital accounts of the partners. | e Sk P
0. At the time of admission of a partner, goodwill brought in by the new partner is shared equally by old
partners. False Sac ratio

—



9) Introduction to Partnership Accounts

True and False

1 In absence of any agreement partners share profits of the business in the ratio of thﬁijucqalpltal

contribution.- false

- L Profit sharing ratio and capital contribution ratio need not be same. (.Ef‘g_e._

73 Every partnership firm must register itself with Registrar of firms.False

o & A partner can advance loan to the partnership firm in addition to capital contributed by him.Trve

ol A partner can demand interest on capital even if it is not provided in the partnership deed.-i:olsc

_ 6. If a partner does not take part in day to day business activities of the firm then he is not entitled to any
share of profit. Folse R0 07 RAnNednlx

P Interest should be paid @ 6% p.a. on partners’ loan even if it is not provided in the partnership deed.Trve

8. Husband and wife cannot be partners in the same firm. False

- 9. One senior partner is Principal and other partners are his agents. “Fale
10.  Partners are the agents of the firm and each olher.T_&f—

10) Final Accounts of Manufacturing Entities

True and False

-~ Lt ) " m
1. By-products valued at ¢t or net realisable value whichever is lower. - False

o~
2. The manufactuﬂﬂg_asmuntli ﬁ;epared to asc&r{ain the profit or loss on the goods produced. ralse
- o

-3. If there remain unfinished goods at the beginning and at the end of the accounting period, cost of such
unfinished goods is shown in the Manufacturing Account. - [Jwe

"4 Raw Material Consumed = Opening inventory of Raw Materials + Purchases - Closing inventory of Raw
Materials. - |nve Manu|.

c
=8, The Trading Account will show the quantities of finished goods, raw materials and work-in-progress.\rulv
“6. Overhead is defined as total cost of direct material, direct wages and direct expenses. -Tralse

4 - Ond
Sndiwh
&x

=



True and False [\
PRI

i
i/rZ.
-3.

4.
- 5,

=19,
* 16.
e T

_18.
% "1
_20.

1) Final Accounts of Non-Manufacturing Entities

The income statement shows either net profit or net loss for a particular period‘TTUr. P%—ﬂal 'Pl'
V- 1<Cc
Gains from the sale é)r exchange of assets are not considered as the revenue of the business.- False

The salary paid in advance is not an expense because it neither reduces assets or nor increase liabilities. Froe

A loss is an expenditure which does not bring any benefit to the concern. q}wc, vl L-a\:
(4
All liabilities which become due for payment within the year are classified as long-term liabilities. - Fu‘ia

The term current asset is used to designate cash and other assets or resources which are reasonably
expected to be realized or sold or consumed within one ear.- Jrwe

CY- beacjt
An asset gives rise to expenditure when it is acquired and to an exgense en it is consumed. - -Srve

If the balance of an account on the debit side of the trial balance where the benefit has already expired
then itis treated as an expense. - Teve L Rent F[. ‘Sa\of‘\lﬁ‘c

Sales Iess cost of goods sold = gross profit. - -Hive
If the debit suge of the trading account exceeds its credit side then the balance is termed as gross proﬁt G.Lc

&0r

The provision for bad debts is debited to Sundry Debtors Accountr o prov
PEUM.

The provision for discount on creditors is often not provided in keepl n%wutam pnncrple of conservatism.- ll' ve

\m
The debts written off as bad, if recovered subsequently are credlted to Debtors Account.- Cﬂ\w

The adjustment entry in respect of income received in advance is debit Income received in advance —
account and credit income account. - False  neome Ov-

o Inc-Rec inAdw- . Oradiny:
Premium paid on the life policy of a propnetor is debited to profit and loss account. - False

Depreciation account appear in the trial balance is taken only to profit and loss account:- “frue

O
Persongl chases included in the purchases ases day book are added to the sales account in the Trading

account. - FALSE C Purch) & %raa +
Medicines given to the office staff by a manufacturer of mec?iEu‘rlfés will be debited to sala/ries accounﬂ_’_'-"_‘-

rchase
Goods worth ¥ 600 taken by the proprietor for personal use should be credited to Capital Acco nt.

If Closing Stock appears in the Trial Balance, the Closmg inventory is thenlered in Trading
Account. It is only shown in the Balance Sheet.

Treve L st
1o ?urc.ho.sc




12) Account Current

True and False

i - M
4. Current account and account current are one and the same. - talse
* 2 The account current is an extension of the average due date conceptT*wr-
o= 1 Date of ﬂ%‘nsacﬁon or the due date whichever is earlier is considered for computation of the number of
days. Falic G
> - m— ) 4@ . ) B ]
-4, A is in account current with B- The person rendering the account current is Mr. A. - kalwe
_5. The honored bills of exchange will not be recorded in the account current.” O¢otor li_i.‘ﬁh’r
 Bank T
b Yue
o BIR
13) Average Due Date

True and False Q8m) 12

1. The specific dué date excludes the addition of arace days to arrive at the due date. frue
2 Payment made before the average due date entitles rebate to the customer.‘jlwt.
N

73 Average due date results in loss to the party making the payment. ta lse
- 4. Interest has to be paid by the party making payment exactly on the average due date Fakse
> A Where the due date is a Public holiday and the preceding day is Sunday (holiday), then the due date

falls on the day preceding Sunday. “The -
% % b
QY. Ak 6| Jan

= Sund
/ ‘—)—(



14) Consignment

True and False dei&d

s, Value of the abnormal loss is debited to the consignment a t Fale
e —_— —
2. Sales account and account sales are one and the same. False

Consignor is the owner of consignment stock. True

~ 4 Normal commission is paid to the consignee to bear the risk of the bad debts on sale of the consigned
stock. = el-credre - Fal

5: There is no entry passed by the consignee in his books for the remaining stock of goods lying with him.!_f_gi-.

: : , Norminal
6. Consignment account is a representative personalﬂa‘é:countia_!iﬂ Gonsignor A conuignee
1. Proforma invoice is sent by the consignee to the consignor giving details about the stock of goods sent
False '

7
on consignment and their cost, invoice price, etc. -
N
. 8. The bad debts in case of del credere commission shall be debited to the Consignment account tolse
‘¥ 9. Abnormal loss is created out of uncontrollable situations and circumstances. F‘-"""‘-

o
10. The relationship between the consignor and his consignee is that of a seller and a buyer. - \'_ﬂ_lf.‘
?rim";ol &Jent

15)Sales of Goods on Approval or Return Basis

True and False

S
-, %
o Goods sold on approval or return basis are not recorded as credit sales initially when they are sent out
in case the business entity sell goods casually on sale on return basis. False
| S ey et UL L

2. The customer retains the goods even after the exgir; of thg mentioned term, but this act does not confirm
to sale of goods as there is no express consent given. - \-a

R At the end}of the year- those goods on approval basis awaiting approval from the customer are shown
as part of sales in the books of fhe seller. False

- ../ - . 7
X 4. No entry needs to be passed in the books of the seller, when the customer rejects the goods (awaiting
approval) after the closing of the books of the seller. True

al
=l B The period within which the customer has to reject or accept is fixed by the buyer. Lq\sc
\ "
v Y““ &nd &i-u__m‘



16)Bills of Exchange

Qs

True and FalsgL@‘m 1S

Bills payable account is a nominal account.- \-u\u
: rdey ; - fqlx
Promise to pay is included in a bill of exchange.- &
(%Faﬂ'. : a c0|
Days of rebate are added to the due date to arrive at the maturity date. el

o o A

-~

b

o
There are always 2 parties to the bills of exchange. Fake

Foreign bill is drawn in the country and payable outside the country. "fruc

oo o

Promissory note is different from bill of exchange because the amount is paid by the maker in case of
former and by the acceptor in the later. - Trve

PN Bog
gu ey \/
iJ
sty




17)Depreciation

True and False
1. Increase in market value of a fixed asset is one of the reasons for depreciation being charged. False
* 2. Depreciation of an asset begins when it is available for use in the location & condition necessary for it
to be capable of being operated. Trve olon:
o 3 Cost of property, plant and equipment includes purchase price, refundabﬁxes & import duties after
deducting any discount or rebate, fa
-4 Cost of fixed asset should also include cost of opening a new facility such as inauguration oosts.(’_\‘i‘
-~ 5. Depreciation is charged with a constant amount under straight line method and charged with a constant
percentage under diminishing balance method. True
/6. In F:ase an item of Property, Plant & Equipment is revalued, whole class of assets to which that asset
being revalued belongs should be revalued. True
. -~
1 In case the carrying amount of an asset is decreased due to revaluation, such decrease should @

be recognized in the Profit and Loss account. - Rcu-f{cserw. - kalx

/8. Akash purchased a machine for ¥ 12,00.000. Estimated useful life is 10 years and scrap value is
¥1,00,000. Depreciation for the first year using sum of the years digit method shall be ¥ 2,00,000. True

} Lo0ut L p—
-9. Depletion is the allocation of the cost of intangible 85561s such as patents and copyrights. False
_A0. Providing for depreciation also helps in providing for accumulation of funds to facilitate the replacement
at the end of its useful life. — \YUC 0.C. —Ac Dl
~0C.
A If the equipment account has a balance of ¥ 12,50.000’and the accumulated depreciation account has

a balance of < 4,00,000, the written down value of same shall be ¥ 16,50,000. 8"3—0.000 “Falhe
T —
*12. Sum of the years digit method is an example of accelerated method of charging depreciation. -Tvwe,

~13 Over the life of an asset subject to depreciation, the accelerated method will result in less Depreciation
Expense in early years and more depreciation in later years of its life. Fals

7 14, While depreciating land cost, Straight line method shall Bive more depreciation than the written down
Y -

- Folse De;
valve: T02C o o prov- (e O
7 15, Provision for depreciation account is@ at the time of recording the depreciation on an asset. Falie
16.  If adequate maintenance expenditure is incurred with relation to run_ni_ngﬁ;grs_(,gjn_a{:sel,D we need
2 not charge any depreciation. “False — vou-for Ocp Dv-
- To Mach.

AL When a property, plant or equipment is_sold then provision for depreciation account is_debited, asset =
account is credited and any gain or loss is recorded to p\rloﬂt and loss account. Trgwe

wo
8. While calculating the depreciation as per diminishing balance method, the salvage value of the asset at
the end of its life is reduced from its cost. Fals€

19~ Anychange in the estimated useful life of an asset should be accounted for as a change in an accounting
estimate in accordance with Accounting Standards. IYve S

20 Whenever any depreciable asset is sold during the year, depreciation is charged on it for that entire

year.  Frglar g

e




18)Inventories

True and False

1. Inventories are stocks of goods and materials that are maintained for mainly the purpose of revenue
generation. |#ve -
e A building is considered inventory in a construction business.1TVe
3 Inventory is valued as carrying cost less percentage decreases.Cost or NRV  \ouxy “valic
_A. Management has daily information about the quantity and valuation of closing stock under physical ~
Inventory System. FQE\‘ Trod.
/9. Periodic Inventory System is more suitable for small emerErises.’fruc |d sh ¥
L When closing inventory is overstated, net income for the accounting period will be Eiﬁé_rggated {als
~T. Closing inventory = Opening inventory + Purchases + Direct expenses: Cost of goods sold. False
5 8 Cost of inventories should comprise all cost of Eurchas‘.g., onv. ot Exp - F.“_l.“

Costs of conversion of inventories include cl?'sjts directly related to the units of production. They include
allocation of fixed overheads@ ficed Induecs | Voriable

o T

Abnormal amounts of wasted materials, labour or other production_overheads expenses are included in
the costs of inventories.— False m

- 44, Perpetual system requires closure of business for counting of inventory. +°_\*'

e Periodic inventory system is a method of ascertaining inventory by taking an actual physical count. wa.

~13. The value of ending inventory under simple average price method is re_a_ﬂgti%ﬂs con:pare to LIFO." ‘Prve
Yren
~14, The value of stock is shown on the assets side of the balance-sheet as fixed assets: Ccnhc
— e T
¥ 15. Under inflationary conditions, FIFO will not show lowest value of cost of goods sgld.‘ﬁﬂv

* 16. Under LIFO, valuation of inventory is based on the assumgtion that costs are charged against revenue
in the order in which they occur. Fal

A7. Valuation of inventory, at cost or net realisable value, whicheve is based on the principle of

Conservatisrﬁ._:lh’ e o
18 Finished goods are normally valued at cost or market price whichever iLo.Qer ;—q\u
oty _—
o)z |§I|L 7-°lﬂ- ZHl'
o 130 1B 4

@ "



19)Bank Reconciliation Statement

Pe or False Yos Book e

2.

\

o ® \F“\F"

- 16.

;|=/17.

~18.

~19.

Bank Reconciliation is the process of reconciling cash column of the cash book and bank column of the
cash book. False

7
There are 3 types of differences between cash book and pass book namely Timing, Transaclions &
Errors.’r;(,ue.

ul
Adjusting the cash book for any errors and/or omissions before preparing bank reconciliation i |s P
when the reconmllatlon is done at the end of the flnan | year— Ya
Dﬂmanoe |n cash book is same as overdra as Eer gasg book. Falw

Bank_charges debited by the bank is A ple of tm’nng Ing difference for the purposes of bank
reconciliation. Fab

Of_illc;a_s_tjng of the debit side of the cash hoek is an example of a difference that is due to error, | %ve

When we start bank reconciliation with a debit balance in cash book, then cheques issued but not yet
presented should be added back to arrive at the balance as per pass book.‘(\-'uc.

The bank charges charged by the bank should beldeductedl when bank reconciliation statement is being
prepared starting from a credit balance of pass book=—

When the causes of differences between pass book balance and cash book is not known, then the bank
reconciliation statement can be prepared by matching the two books and identifying any unticked items
in both sets.  LLve 7

1S] —
While preparing the bank reconciliation statement starting with debit balance as per pass book or bank
statement, the deposited cheques that are not yet cleare@ not be adjusteg.)- w
Cash book shows a debit balance of ¥ 50,000 and the only difference from the balance as shown in pass
book relates to cheques _issgrd_w_{ﬁﬂ.ﬂﬂo but not yet presented for payment. The balance as per pass
book should be ¥ 1,10,000.” 14V &

h‘f" et
Overcasting of c?zﬂ“m e of the cash, book shall result in a higher bank balance in cash book when
compared with pas’m_qls_bajanc& j_-n_\_x_g_
A cheque for ¥ 25,000 that was issued and was also presented for payment in same month but
erroneously recorded on debit side of the cash book would cause a difference of ¥ 50,000 from the
balance in ﬁz‘is book”” Truas R

/

A direct debitDy bank on account of any payment as may be instructed by customer should be recorded
on credit side of cash book. Vet
—— i

Bank Reconciliation Statement can be prepared in two formats — “Balance” presentation and “Plus &
Minus" presentation. Trwal

: c8
The difference between cash book & pass book that relates t .@ bre those mostly made by Bank, Fﬂ‘v

A cheque for T 80,000 that was discounted from bank was dishonoured and the bank charged < 1,600 Qoo
as the charges on account of same. While starting with debit balance in cash book for preparing bank —
reconciliation statement, we need to deduct  78.400 to reconcile with pass book. Fﬁ M

Interest on savings bank that is allowed or credited by bank is generally recorded in cash book prior to
it being recorded by bank. Falss '

A regular bank reconciliation the accountants to be involved in any kind of funds
embezzlement. T)we ,

Timing difference relates the transactions that are recorded in the sarn faen’od in both cash book and
also the bank pass book. Falv

——




20) Rectification of Errors

True and False

N> o 2 b A

10.

21) Cash Book

True and False

1,

Tk 9.
3.

“x 4.

1

6.

e A

The method of rectification of errors depends on the stage at which the errors are detected. ‘ﬂw:
In case of error of complete omission, the trial balance does not tally. rake

When errors are detected after preparation of trial balance, suspense account is opened. ’Pm
When purchase of an asset is treated as an expense, it is known as error of principl le. Lrwe

Trial balance agrees in case of compensating errors. Trve

Com"“ gai1on
When amount is written on wrong side, it is known as an error of principle. Fﬂ‘;: O
Ui,

On purchase of furniture, the amount spent on repairs should be debited to repairs account. Falsc

‘Profit & Loss adjustment account’ is opened to rectify the errors detected in tccounling
period.  Falst i o
ra i

Rent paid to land lord of the proprietors house, must be debited to ‘Rent a actl)unt alx

If the errors (a;e detected after pre panng trial balance, then all the errors are rectified through suspense
account. |-a\s¢

e D Onc Sided.

o Column
Cosh
Q_mb\ Diswunt
Cash book is a subsidiary book as well as a principal book. ’F/‘WC
Two column cash book consists of two columns cash column & bank_cglumn.(fﬂ_"
Discount column of cash book is never balanced Trve

pr—

_ : Three P (4
Contra entry is passed in a two column cash book. False /

If the bank column is showing the opening balance on credit side, it is an overdraft.fﬁwc

A cash book records cash transactions as well as credit transactions. Fo\sc.

Discount column of cash book records the trade discount. Fg\_s_t

G.; dih



22) Subsidiary Book

True and False ff
1. Transactions recorded in the pu rchase book include only purchases of goods on credit transactions. fue
2. Transactions regarding the purchase of fixed g;get are recorded in the purchase book.FOl&

A Cash sales are recorded in the sales book. Fals
4_ Sa‘gu_@d_lg_ry_bggks are also known as the books of original entry. U‘Wf- SB: P4 n
B Bills receivable book is a subsidiary book. -sﬁl:f- ot = l
—— Saltr
6.~  Return inward book is also known as purchase return book. @ A
—T. Purchase of a second hand machinery will be recorded in purchase book.- Fdlz. gt ‘ \,(
/
* 8 Total of(sales retum book is posted to the debi side of sales account. UWG l
9 If the sales are on a frequent basis, the transactions are recorded in the(sales boo 3“‘" g"‘
Lo e ®3IR
Trve o
23)Trial Balance

True and False

Preparing trial 't;alanoe is the third phase of accounting processTf‘w"

Trial balance fr f_gtms a base for the preparation of Financial statement Trve

Agreement of Trial balance is a conclusive proof of accuracy. Hlln

A trial balance will tally in case of compensating errors Trve

A Trial bala__’__ﬁ,nd the missing entry from the |Qn|'r|al Fﬂlst
Suspense account n a trial balance is a rmaﬁent auount
pense accou pe gl o

The balance of purchase returns account has a credit balance. \rve

24)Ledger

True and False

/ 1.
2.

3.

T 4

4
%

~1.

e,
A ledger is also known as the principal book of accounts. TJ‘M
Cash account has a debit balange.TnU{.

. % : = . -
Posting is the process of transferring the accr)unts from Iedger to journal. Falsc. @\
At the end of the accounting year, all the nom:nal aigounts of the ledger book are balanced. l-u\u

Ledger records the transactions in a chronoI:)‘glcal order. Falu 9 but ~
If the total debit side is greater than the total of credit side, we get a c_edn.halancd'ﬂ-"‘

Ledger accounts of ||| always be debited when they are increased. Tre



Lidb: A
;1:,\\:: = lcA+cn-C

25)Journal

True and False

Cap
A In accounting eguatlon approach equrty + Long-term liabilities = fixed asset + current assets - current
liabilities. lvve =~ ghver

" In the traditional approach a debtor becpmes receiver. Co\sc
]

The rule of nominal account states that all expenses & Iosses are recorded on credit side.

4. Journal proper is also called a subsidiary book. Toc.

P Capital account has a debit balance. FQ\“
/6. Purchase account is a nominal account. \W‘
mmmﬂ \
e All the personal & real account are recorded in P&L A/c.ﬁl “
8. Asset side of balance sheet contains all the personal & nominal acaiums.FO\&!
u’ <
_9~  Capital account is a personal account.’?ﬂl&

_10—"Journal is also known as the book of original entry. '?W(.

26) Meaning & Scope of Accounting

True and False

1. Thereis no '(H'Iference between book keeping and accounting, both are same. Fa lse
Financi
2. Mana‘gneamgnt Accounting covers the preparation and interpretation of financial statements and
communrcatron to the users of accounts. False
Maonogemend~
3 FinancTal accounting is concerned w1th internal reporting to the managers of a business unit. False
4. Customers of business should not be considered as users of accounts prepared by business. They are
not mterested to know performance of the business Trve
5 Summansrrlrérs the basic function of accounting. All business transactions of a financial characters evidenced
by some documents such as sales bill, pass book, salary slip etc. are recorded in the books of account. False
6. Balance sheet shows the position of the business on the day of its preparation and not on the future date. True
7. Objectives of book-keeping are complete recording of transactions & ascertainment of financial effect

on the business. Trve



27)Accounting Concepts, Principles & Convention

True and False

il

The concept helps in keeping business affairs free from the influence of the personal affairs of the owner is
known as the matchingconcept - False

USINEs
Entity concept means that the enterprise is liable to the owner for capital investment made by the owner. “Trve

Accrual means recognition as money is received or paid and not of revenue and costs as they are earned

orincurred. False

lisation
The Congarvatlsm Concept also states that no change should be counted unless it has materialized. 1'0\5‘

The concept of consistency.implies non-flexibility as not to allow the introduction of improved method of
accounting. Fal et not

The materiality depends Bhl,y upon the amount of the item and pef upon the size of the business, nature
and level of information, level of the person making the decision etc. False

28)Accounting Terminology

True and False

)

N

dradee
The drawers sngned assent on bill of exchange, to the order of the drawee is called an acceptance: False
That portnon of an expenditure whose benefit has been exhausted is called Unexpired Expenditure. False

Accrual basis of accounting is the method of recordlng transactions by which revenues and costs and
assets and liabilities are reflected in the accounts in the period in which actual receipts or actual
payments are made. False

Authorised Share capital is sometimes referred to as nominal share capitaI.T\’Uc

Fixed assets less interest on obligations undertaken to purchase asset less accumulated deprec1at|on

thereon up-to-date are called Net Fixed Assets. Falsc - Fixed Asd - Acc Dt\: =Net FA
The credit balance in the profit and loss statement is called a deficit. - -False
Prbll

29)Contingent Assets & Liabilities

True and False

heed 4o be ‘
A Cconélngent liability need not be disclosed in the financial statements. False

U
A Provision fails to meet the recognition criteria. False

A claim that an ente,rpnse is pursuing through legal process, where the outcome is uncertain, is a

- e
contingentliability. m} (?rw'sm n '
Whenitis probable that the firm will need to pay off the obligation, this gives rise to Contingent liability. ralse
Present ﬁnanmal obligation of an enterprise, which arises from past event is termed as comingent
liability. False



30) Accounting Policies

True and False

1
2
3.
4
5

no
There i is a single list of accountmg pohcles which are applicable to all enterprises in all circumstances. FGlSC

Selechon of accounting policy doesn timpact financial performance and financial position of the business Fl

¢

A change in accounting policies should be made as and when business like to show result as per their chonce Fﬂ‘sc

L chonge on\J when
Choosing FIFO or weighted average method for inventory valuation is selection of accounting policy-\ D ax aived 5 law
Selection of an inappropriate accounting policy decision will overstate the performance and financial 9" us*anami
position of a business entity every time. False m:@hﬁ‘und«s rate 2) BeMer
Prescatation

31)Accounting as a Measurement Discipline

True and False

1.

There are four generally accepted measurement bases. Fals

(i) Historical Cost; (ii) Current Cost;
(iif) Realizable Value; (iv) Future Value.
resen

Histori C\ostkmeans price paid at time acquisition.—‘-ﬂ’(
calisebl value
As per futuré value, assets are carried at the amount of cash or cash equivalents that could currently be

obtained by selling the assets in an orderly disposal. False
15 ovn
At Present value, liabilities are carried at the value of future net cash outflows that are expected to be

required to settle the liabilities in the normal course of business. - Falsc

ABC purchased a machinery amounting ¥ 10,00,000 on 1st April, 2001. On 31st March, 2020, similar
machinery could be purchased for ¥ 20,00,000. Historical cost of machine is 20,00,000 lotac- Falsc

ABC purchased a machinery amounting ¥ 10,00,000 on 1st April, 2001. On 31st March, 2020, similar
machinery could be purchased for ¥20,00,000. Current cost of machine is ¥ 20,00,000 True

32)Accounting Standards

True and False
1.

o o Wb

Accounting standards are written policy documents issued by the expert accounting body or by the
government or other regulatory body covering the aspects of recognition, measurement, presentation and
disclosure of accounting transactions and events in the financial statements.'ﬁ.,g

Accounting standards can override the statute. ¥Qtse

\irirahion I

Difficulties inmaking choice between differe{lottreatments isone of the benefits of accounting standards. False
LNe

Requirements for additional disclosures is ||m|tat|§n of accountmg standards. False

ASB stands for Accounting standardisation benchmarklng S kmdov ‘? Board

There are nfo limitation to accounting standards. Fakse
L» Choitte blw d‘\L. quomhnj treabmqenh

— Limited in s(o‘u
C bez cannet  1OVCY ride the Lﬂvo)



33)Indian Accounting Standards

True and False
CO\W:QF
1 The Government of India in consultation with the ICAI decided to adopt RSs issued by the IASB. Falu

2. There are many benefits of convergence with IFRSs to the economy, investors, industry etc. |ruc
Nee
3. There was no need to converge to global accounting standards. Fa\x ? : PV
finc ~
4. International Financial Reporting Standards (IFRSs) are considered a “rules-based” set ofstandards.l‘ﬂ‘-‘nt
E %}cc Stondard Board
5. Govt of India has taken IASB IASB support to develop Ind AS standards. faly
Commiltes
6. IASC stands for International Accounting Standards Council. Fq|se

gt e 4

—~Other Important Questions (RTP / PYQ / MTP)

~

A7 Afixed charge generally covers all the assets of the company including future one. “G\Sc

_2} Aclaim that an enterprise is pursuing through legal process, where the outcome is uncertaln isa
contingent liability. *s&. - False I

’§] There are two ways of preparing an Account Current. \‘C\ ©
+_4) A partnership firm cannot own any Assets Trwe
45) Prior period items need not be separately disclosed in the current statement of profit & 1055.?0“
-] The problem of red-ink interest arises when the due date of a transaction falls after the closing
* date of account current, - 110& S Y conu &-&‘P
7) Netincome in case of persons practicing vocation is determined by preparing profit & loss
account. False .
A8) The financial statement must disclose all the relevant and reliable information in accordance with
the full disclosure principle, 10 & 1Cx

_Y) The debit notes are used to prepare Sales Return Book. - CCI‘.SQ
_10] If closing stock appears in the Trial Balance, then the closing inventory is not entered in Trading
Account. It is shown only in the Balance sheet. = TTUG Trve
11) The concept of conservatism when applled to Balance sheet results in understatement of assets.
12) In the calculation of average due date, only the due date of first transaction must be taken as the
base date. FcﬂEE.
13) The busingss of partnership must be carried on by all the partners. CO\SC
JA4) Rcduc ngh:u\qdncc method of depreciation is followed to have a uniform charge for depreciation
and repalrgﬂd-maintenance together Tuuc : B
~15)Debenture interest is pavable after the payment of preference dividend but before the payment o of
equity dividend, False
_ZB’]WMent paid for storage of finished inventory should be included in the cost of Finished
inventory.
~17) A person ho_]_c_lmg_p@mnge shares of a company cannot hold equity shares of the same cm
28] Re-issue of forfeited shares is allotment of shares but not a sale. False

If del-credere commission is paid to the consignee, the loss of bad debts is to be borne by the

consignor. I-Q\S-f
(,om‘jhu e
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3. Error OL Commission

Question:
Classify the following errors under the three categories - Errors of Omission, Errors of
Commission and Errors of Principle. )

- e . ~ - .



Question:

Classify the following errors under the three categories - Errors of Omission, Errors of
Commission and Errors of Principle.

a. Sale of Mach“l(nery credited to Sales Account. Q‘-u’l‘l aple.

1. Machinery sold on credit to Mohan recorded in Journal Properly but omitted to be posted. QO msiioN
c. Goods worth Rs. 5,000 purchased on credit from Ram recorded in the Purchase Book as Rs.
500. - Commisson i P\t_tordﬁlj

d. Purchase worth Rs. 4,50 500 from Mr. Jassi posted to the debit of m;;hmery Afc P”“E.’P‘Q
e. Credl?sale wrongly passed through the Purchase Book.
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1
Z 1000

Ex. Disc. allowed Yo <faro Ras not been enterd in cash book
=  but Tora P(\ Nas Deen Coﬂtd‘j %jOafe.d

Correct W Yrong Re,c)n‘ \)r cation
o
Disc.all DY- \O00 7 Df’sc.ou.Dr 1000
To Tava 1000 To Taro 000 o SU.\‘) ﬁ’l, 1900
an

Vrite out the Journal Entries to rectify the following errors, using a Suspense Account.

<
o
1) Goods of the valug of ¥ 100 returned by Mr. Sharma were entered in the Sales Day Book and @
therefrom to thunt;
v o
2 An amount of @ entered in the Sales Returns Book, has been posted to the debit of Mr. Philip, who
returned the goods;

v v v
3 A sale of <200 made to Mr. Ghanshyam was correctly entered in the Sales Day Book but wrongly posted

to the debit of Mr. Radheshyam as Eﬂ) and

‘/4)/ The total of “Discount Allowed” column in the Cash Book for the month of September, 2020 amounting
to ¥ 250 was not posted.

Correct \Alron echlication
l] SolesRe 6\" ".00 j » R k
3 Sharme 100 T Sales f\\( Sdle, D100
\TO Mr.Shar M& SQ\% Ke_tﬁ\f- 100
To %uu;‘) EGIM
a 80\{0 | e.t D \ Mr. (Phl.'ll gr o DT‘ 300
} To M.\r I\i\)@ ‘) - 8 F
To M. @hih}) 2)_____§20

3)] Cnhomh om O 3\06 e Q\theshjomév‘(lo G—lhom\w am Ov. Q00

T Sales 200 To JSup Ap 180
0 Rodhrs\w:low] D

Disc. all. Or. Q50
—BS\M)F ASVL

(a) Pass the Journal entries to rectify the following errors detected durmg preparaﬂon of the
Trial Balance:

(U Wages paid for construction of office building debited to wages account & 20,000.

‘_(J!j A credit sale of goods ¢ 1 200 to Ramesh has been wrongly passed through the
Purchase Book._...

Alii) An amount of ¥ 2,000 due from Mahesh Chand which had been written off as a bad
debit in the previous year was unexpectedly recovered and has been posted to the
personal account of Mahesh Chand.

Goods (Cost being ¥ 5,000 and Sales price being (ﬁm{)} distributed as free

camnlae amniunt nrnenactiva riictnmare wara nnt rarardand anvnwhara



PeIsundl dueournt vl vidnesii vriarid.

Goods (Cost being ¥ 5,000 and Sales price being ?ﬂﬂ) distributed as free
samples amount prospective customers were not recorded anywhere.

/ﬂ?)/ Goods worth & 1,500 returned by Green have not been recorded anywhere.

(5 Marks)
Conedt \nl e R@.d‘wk{ catio N
b E)ui'ld';rj Or- do.000 —  \Nage Pt\( (D"f. %ulld\n Q 20,000
To %on\{&gooo To V\\(l & Q000D

-
@ ) RGN&: 1200 v o&.\\‘c\‘\ DY- 120 P\Ommh DV 400
Suh.o ﬂ\ C \300 To Rﬁmh\rl__@ To burdh Al¢ 1200
To! Sales 100

@)  Cash Or. 2000 Maheh chand Oy Q0o
o Baddelst Rec 4000 —— O Mahoh chend Q0w To Dad debkRe 2000
(v) Rdvex Ov. Gooo ‘ﬂdw.ex Dv Soov
To \Surch Pr\ Go00 o ﬁ; rch 5000

el Sales Kd’. Ov- 1500
To C‘feef\ \SOO

v
2. On going through the Trial balance of Ball Bearings Co. Ltd. you find that the debit is in excess by 3150, Dr
This was credited to “Suspense Account”. On a close scrutiny of the books the following mistakes were 1150
noticed: — T

Or. +50 Sub
(1 The totals of debit side of “Expenses Account” have beeen cast in excess by ¥ 50. IS0
427 The “Sales Account” has been totalled in short by ¥100.
(3) Supplier account has been overcast by 225.-(;__1‘_. T 2% g q\?ng

(4)  The sale return of X100 from a party has not been posted to that account though the Party's
account has been credited.

(5) A cheque of 500 issued to the Suppliers’ account (shown under Trade payables) towards his
dues has been wrongly debited to the purchases.

(6) A credit sale of T50 has been credited to the Sales and also to the Trade receivables Account.

You are required to

(i) Pass necessary journal entries for correcting the above; _-
(ii) Show how they affect the Profits; and _- i
(iii) Prepare the “Suspense Account” as it would appear in the ledger.
~ -~ % i
Cor ra_’rgn\w\] \&mj Ree 6\)‘)&% oD &p
Al Prolib ~9n
a) / Sup M Qv o -

i ol o T o ST AN



a)
av)
Qt’\)

—
Q\’) 80\94 Rﬂigr

TD tua’rbmev —

R A

D frode E& O SO/

To

J

v Sup M Qv 5o
4 To 8?&})25:0 o

- Susp Or 100

1 To Sales h\uoo /

i guﬂ)hu Dr&afj

To S\m\ _‘Z');;)_S
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To '\')urc\'\.:g_oo
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* nji-an
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+ 160
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&> 100

+ 500
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I
a\v F\‘l. To ‘fﬂ e.c%g o T upk; 100
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v/ (¢) .Give journal entries (Wixh narrations) to rectify the following errors located in the

books of a Trader after preparing the Trial Balance :

(i) An amount of ¥ 4,600 received on account of Interest was credited to

{ e

Commission account.

S ] B
A A sale of T 2,760 was posted from Sales Book to the Debit of M/S Sobhag

Traders at T 2;670




< ; v
A A sale of T 2,760 was posted from Sales Book to the Debit of M/S Sobhag -
Traders at ¥ 2,670 |

‘,(aﬂ/! 35,000 paid for purchase of Airconditioner for the personal use' of proprietor
debited to Machinery alc.

}v/ Goods returnéd by customer for ¥ 5,000 The same have been taken into stock

but no entry passed in the books of accounts. . . (4Marke)
Correct \Alrong Rect
L Can CommaA|, Dy Usoo
Yt F\r\g T Comm. To9nt  Ysod
2. Sobha Qv 260 — Sobhaj Dv 610 Sobhaj Or 90
To “Zales H\g 2160 To Sush 40
£ B\fa@injs Q. — Mach. On Dvow. Or. 35000

To N\Qc,h P«\c 35000

4. Colea RE Qr- Sooo
Q%—l% Cwst f\\, So0d

vty O 1080

1) Avehicle brought originally for Rs. 7,0Q0 four years ago and depreciated to Rs. 1,200 \(32—3

had been sold for Rs. 1,500 in the beginning of the year but no entries, other than in the
bank account had been passed through the books.

Cofveck Ra_c_#=5nh\]

Bank O 1500 — Sus&Qv-&th)o
{0 L 300
To PALA|. 200 To Uehed 120D
Tovehide 1200

-

= v
,2;) A bad debt of Rs. 1, ad not been written off and provision for doubtful debts should have
been maintained at(10%lof Trade Receivables which are shown in the trial balance at Rs.
23,390 with a credit

ovision for bad debts at Rs. 2,320,

Frial_Balanu
Ov. Cr.
Trade R 233401 | 2
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{(b) The books of accounts of Dime Ltd. for the year ending 31.3.2021 were closed with
g;g\  a difference in books carried forward. The following errors were detected
subsequently: " & shed

() Return outward book was under cast by ¥ 100.

(i) ¥ 1.500 being the total of discount column on the credit side of the cash book
was not posted.




(i) ¥ 1,500 being the total of discount column on the credit side of the cash book
was not posted.

(i}~ T 6,000 being the cost of purchase of office furniture was debited to Purchase

Alc. r
(A credit sale of 3 760 was wrongly posted as ¥ 670 to the customers’ A/c.in_
the sales ledger.— Debtor A Cuctomer

(v) The Sales of ¥ 10.000 was omitted to be recorded, -
Pass rectification entries in the next year.

a) Qusp 4 O (00
T ’\D&L_MJ »«\c 100
i) %kMP Ale Or 1500 P
To PRL Ad| A\ 1500
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A sale of Rs. 573 was entered in the sales book as Rs@nd posted to the credit
of the customer.
2) Cash received from C. Dass Rs. 620 was posted to the debit of G. Dass
_}) Goods worth Rs. 840 were dispatched to a customer before the close of the year
but no invoice was made quf. ~ L Salvs, ~
¥ Goods worth Rs. 1,000 wéte sent on sale or return basis to customer and entered
in the sales book. At the close of the year, the customer still had the option to —> Sa'lho‘L(nowln

return the goods. The sales price was 25% above the cost. o ona PW\IGL
_5)Rs. 7,000 due by Mr. Kohli was omitted to be taken to trial balance. =
_— Y -
C:i \nﬂ(_mg gLC. ’
T Cusoma O 513 Customer Or. 1226 -
To dws 513 To Cuotomer 193 P&LanRL Or. 180
- To Sale M5 7
Mo To Susp ﬁ\r 1506
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(b) Mr. Anirudh was unable to agree the Trial Balance last year and wrote off the
ﬁ difference to the profit and loss account of that year. On verifying the old books by a
b Chartered Accountant next year, the following mistakes were found.
(i)  Purchase account was undercast by ¥ 16,000.
(i) Sale of goods to Mr. Rahim for ¥ 5,000 was omitted to be recorded.

(iii) Receipt of cash from Mr. Ashok was posted to the account of Mr. Anubhav

ths 'ooot{

1200 coshsele oo boge Aot Sales A Credit Sl

™ Amount of ¥ 4,167 of sales was wrongly posted as ¥ 4,617. :F‘ —> Amt 0\, U6l 0\
—~v) Repairs to Machmeryr was debited to Machinery Account ¥ 6,100. Pigl:: dh’uj? “;. S\nho
&) A credit purchase of goods from Mr. Paul chr_?_S.,O_OHentered as sale. =
Suggest the necessary rectification entries.



o A cred_it purchase of goods from Mr. Paul for ¥ 3,000 entered as sale

pFUomu W Yt
Suggest the necessary rectification entries

—

Cash
_ o Rshok — To Anvhhav
) PaL Ad\j 4&\ v 16000 —
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Attempt the Test of this chapter : https://ymtcr.courses.store/389106?utm source%3Dother%26utm medium%3Dtutor-course-referral%
26utm campaign%3Dcourse-overview-webapp

Download the "Avyukt" Application for Live Classes and Notes: http://on-app.in/app/home?orgCode=ymtcr&referrer=utm source%3Dcopy-link%
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Join this Telegram Group : https://t.me/targetcafoundation
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From the following particulars prepare a bank reconciliation statement as on 31st December 2019:

(i)

B\

{
On 31st December, 2019 the cash-book of a firm showed a bank balance of ¥ 60,000 (debit

neLAncel CB \| 00000
Cheques had been issued for ¥ 15,00,000, out of which cheques worth ¥ 4,00,000 only were
presented for payment. Bt ‘

Cheques worth ¥ 11,40,00b were deposited in the bank on 28th December, 2019 but had not
been credited by the bank. In addition to this, one cheque for ¥ 5,00,000 was entered in the

cash book on 30th December, 2019 but was bc?nked on 3rd January, 2020. oo+
epogik
A cheque from Susan for ¥ 4,00,000 was deposﬂed in the bank on 26th December 2019 but
was dishonoured and the advice was received on 2nd January, 2020.
— nloianom

Pass-book showed bank charges of ¥ 2000 debited by the bank.

b
Qr Lx:
\ ] looo
Jo 000
Dr bal. 19000



was dishonoured and the advice was received on 2nd January, 2020.
nlumianom

[y~ Pass-book showed bank charges of T 2000 debited by_t_he bank.

AT One of the debtors deposited a sum of ¥ 5,00,000 in the bank account of the firm on 20th

Py _—December, 2019 but the intjmation in this respect was received from the bank on 2nd January,
2020. "o .

BonR Ru.&ht :

Qs on=&u Dec,

r\)ﬁf‘HCulﬂh ,P'll.b {f.) Minw {i)
o Or dl as ber Cah bpok  — | 60000
@) Cheque faswed' but  not e 11,00,000
0D Cheud  depostled Bub ot Credited [1.40.000
Che-iw no¥ bﬂﬂktﬂ 500.000
(") Cheque  cliah. 400,000
D) %cmb\ charges 000
OB d?muj m{& b:] Debor into %an\ 500,000
Or. a6 ﬁpex ‘o book 382000
&ow00 | Qowngmo

(b) From the following information prepare a Bank Reconciliation statement as on

31% March 2022 for A Ltd
L4
Bank overdraft as per cash book as 31% March 2022 «~ | 15,60,750 I
R+ 3|3 PRX
1. | Cheques deposited on 15t February, 2022 credited on 5% April, 2022 | 12,50,000
PR(—>
2. | Interest debited by bank on 31¢ March, 2022 —> | 1,75,500
-'_.-__'_'—- e
F ol o 3 BENE\
SO
3. | Cheques issued before 31* March, 2022 but not yet presented w7, 75,000
PR+
LA On 10tk March, 2022 bank dited to A Ltd in error 1,50,000
5. | Draft deposited in bank but not credited till 31% March, 2022 12,75,000
s T il s
-
}. Bills for collection creditec I:f‘ggnl but no advice 3:%“
received by the company PB4 __| 9,45,000
L’J,.-ﬂBank charges charged by bank not entered in cash book 9&" 2,85,000
g 8~ Transport subsidy received from the state government
directly by the bank not advised to the company 17,50,000
“3p|
50 D
oBr nt
e (5 Marks) -
B ank Ke.con. 3t.
Qs on .. it

Plus Minue




YV Toson L v
Plus Minwe
Bal as gler Cash booK 15.50,750
l. 1250.000
v 1S ,500
3. 175000
u. 150000
S. (275000
6. Qusooo .
= Q85000
3. 1150000
Or-%a\- Ov:\)er Pass %ooK a1625D
US36250 "US 36250

S

When Nikki & Co. received a Bank Statement showing a favourable balance of ¥ 10,39,200 for the period ended

on 30th June, 2019, this did not agree with the balance in the cash book.
An examination of the Cash Book and Bank Statement disclosed the following :

o
* 2

c‘)o&i ed

A deposit of T 3 09,200 pa Ad on 29th June, 2019 had not been credited by the Bank until 1st July, 2019.

pe
On 30!h March, 2019 the company had entered into hire purchase agreement to pay by bank order a

sum of ¥3,00,000 on the 1 Oth of each month, commencing from April, 2019. No entries had been made

in Cash Book.

oy 1ols 1ol ol

600 38‘1’000
A customer of the firm, who received a cash discount of 4% on his account of ¥ 4,00,000 paid the firm

a cheque on 12th June. The cashier erroneously entered the gross amount in the bank column of the
- BT o=

Cash Book.
Bank charges amounting to & 3,000 had not been entered in Cash-Book.

entry had been made in the Cash Book. oS LY

L

July, 2019. D?sh
Prepare Bank Reconcn':at;on Statement on 30 June, 2019. CB

1\

’_=

—

E)an\ ec. St,

0 0

eposite
Z 11,200 paid in?o B ban had been entered twice in the Cash Book, +11200 L

—
A debit of 11, df 000 appeared in the Bank Statement for an unpaid cheque, which had been returned
marked ‘out of date”. The cheque had been re-dated by the customer and paid into Bank again on

PR 42334000
CB+ Koo,00D

P B+uo0.00
On 28th June, a customer of the company directly deposited the amount in the bank ¥ 4.00.000, but no

v

—

%'_O

+

1039200
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16000
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\\200
11.00.000
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ﬁd\']us‘tcd Cash book
:je.or t’.nCl.' 3\:__1'_'\’\0\’ e

-
Si“ejml!o .
Cos.l\ booK POS_‘A___EODk
[, Cashbook
= Coffect v~

|
~ QCU Co;h:book

= ﬁd\J Cuse_bot)bonb ?k mentioned in the (Q.Mhoﬂ.

What to %dd \

(Q,rron o Omision n_ (R
Cash - Bank C)(\Q\'Sto
O\Itfcq;h'rcj \mc\u‘c OL 8 ~ 9t allowed bﬁﬂk

ﬂmt entdhed hice Chcclue dlshon

BRs
' %_h_ac‘ue, POAIJLGC\ bul not deard .

LPR %
g Ch fasued DUt ot rcse’c v nyent
&que Léu%cv 0 LPE,n)t l)o #J U N
5 %OﬂK Credited 310,000 by ercor.
LN

—
2, According to the cash-book of Gopi, there was a balance of ¥ 44 50 000 in his bank on 30th June, 2019.
_/
On investigation you find that:

- BRS
ZA) Cheques amounting to ¥ 6,00,000 issued to creditors have not been presented for payment till
LR - B
e dale.  Jeoosited Cv

L Chegues paid into bank amounting to ¥ 11,05,000 out of which cheques amounting to

- 5,50,000 only collected by the bank up to 30th June 2019. - S55.000 - BRs

i) A dividend of ¥ 40,000 and rent amounting to ¥ 6,00,000 received by the bank and entered in
the pass-book buf not recorded in the cash book. e Pid v

Insurance premium (upNp S13ND2cember, R0%9) paid by the bank ¥ 27,000 not entered in the
cash book. —

) The payment side of the cash book had been under casted by ¥ 5.000. J/ 5000
A Bank charges ¥ 1,500 shown in the pass book had not been entered in the cash book. - CBv

_wif” A bill payable of ¥ 2,00,000 had been paid by the bank but was not entered in the cash book
and bill receivable for or 2 60,0 ¥ 60,000 had been discounted with the bank at a cost of ¥.1,000 which —> @, n\ZQv 54000
had also not been recorded in cash book.

o 59000 DiscchQv 1000 —  Ofsc ch M- PRL A,
To BIR 60,000

Required:

fal tn maka tha annranriata adinetmante in tha rach hank and



|

e e L L]

had also not been recorded in cash book.

g 4000 Disc chQy 1000 —  Drsc ch - PEL A
Required: = To g\lK 60,%00
(a) to make the appropriate adjustments in the cash book, and
(b) to prepare a statement reconciling it with the bank pass book.
Rarent
C rd
Dy, T O‘Sl’}____e)OO\L Cr.
Yort Z St -
To bHal bld 4450000 | Py ns. j}ucm. 21000
To Oividend 40,000 \3 undes %?«.jm 5000
To Rent 600,00V j bank, c,jn 1500
lo Bilb th.. S Q000 bj bl p\) d Q00,000

— bk(j bal. cld 4915500

Bank  Recon 8t
s on 39" June, 015

Plus Mlinwn
Adj. Cosh. book ch Uqi5500
' Cheq. T3sued but not ©90.000
7. Ched. deP_ but not C»\e,urtci 555000
Cr. k. as ?3 "Ry book 4960500
55,15.500 55,13.000

Y

ri')}15. On 30th September, 2022, the bank account of Vikrant, according to the bank column of

the Cash- Book, was overdrawn to the extent of  8,124. On the same date the bank

C._L@__Lb statement showed a @ebbalance of ¥ 41,516 in favour of Vikrant. An examination of the
Cash Book and Bank Statement reveals the following:

v
_), A cheque for ¥ 26,28,000 deposited on 29th September, 2022 was credited by the

bank only on 3rd October, 2022 2;.?\; Rec. RE P (I)"_"“* Reverse
Sy T b

——2° A payment by cheque for ¥ 32,000 has been er;t&red twice in the Cash Book. — v To Ex) R, E"’";:‘  Barkq
_-3. On 29th September, 2022, the bank credited an amount of 2 2,34,800 received from ==

a customer of Vikrant, but the advice was not received by Vikrant until 1st October,
2022. Linjw

_4~ Bank charges amounting to Z 1,160 had not been entered in the Cash Book. B+
—5~ Onéth September, 2022, the bank credited ¥ 40,000 to Vikrant in error. & RS

S
B~ Anill of exchange for ¥ 2,80,000 was discounted by Vikrant with his bank. This bill - Bl Qmwr‘o‘
was dishonoured on 28th September, 2022 but no entry had been made in the Customer Uy Q8o.000
books of Vikrant. —— “To Bgnk A20000

e
._/f Cheques issued upto 30th September, 2022 but not presented for payment upto
that date totalled ¥ 26,52,000. - RR s

You are required:

(a) to show the appropriate rectifications required in the Cash Book of Vikrant, to arrive
at the correct balance on 30th September, 2022 and



You are required:

(a) to show the appropriate rectifications required in the Cash Book of Vikrant, to arrive
at the correct balance on 30th September, 2022 and

(b) to prepare a bank reconciliation statement as on that date.

P ﬁd\l Cash_ boo\f/

D Cr.
,PCI\\'JC z prr* 3
To Parl 4l 232000 bu\ b\d Qiay
To  Customer Pi\(.. L2400 n C\'\Qr \160
%uahm’}cr " | 280000
o al cld REQR -
Bank Rec. 8t
‘\ RG;OD ‘.
p\us Miaws .
Q\-d Cash balane AA48Y
i Chu‘ue de‘)OS\thd bat not  dearcd 2628000
. %onb\ Crdid 240000 N ecor UQo00
. § Chec[, 13swd bt not %m.kw?)o..] ) Q652000

Cr Bal. as g)er "Pas booK HIS1b

692000 2692000

st u/ e
On 30th December, 2019 the bank column of A. Philip's cash book showed a debit balance of ? 4.610. On

examination of the cash book and bank statement you find that:

Cheques amounting to € 6,30,000 which were issued to trade payables and en!ered in the cash book
before 30th December, 2019 were not presented for payment until that date. g s + 4 b
(90&\

Gl Cheques amounting to & 2,50,000 had been recorded in the cash book as having been paid into the —
bank on 30th December, 2019, but were entered in the bank statement on13tdanuafy, 2920 B Rs(->
v 3 A cheque received for ¥ 73,000 had been dishonoured prior to 30th December, 201 9, &t no record of —

his f he cash book. Cr. —— OcbhrOr.
this fact appeared in the cash boo gr_ ToBank

A dividend of ¥ 3,80,000, paid direct to the bank had not been recorded in the cash bmk. — %on'l_z‘pv o

o LW

%

Bank inferest and charges amounting to ¥4,200 had been charged in the bank statement but nof entered
in the cash book. - {___% Cr.

in November 2019. CE) C,r = )

A chegue for v 27,000 drawn by B. Philip had been charged to A. Ph.-hp 's bank account by mistake in
December, 2019. Tasued ba

You are required:
[ (a) to make appropriate adjustments in the cash book bringing down the correct balance, and

&
=
b No entry had been made in the cash book for a trade subscription of ¥10,000 G 000 paid vide banker's order

(b) to prepare a statement reconciling the adjusted balance in the cash book with the balance shown in the

hanlk cftatamant



(a) to make appropriate adjustments in the cash book bringing down the correct balance, and

(b) to prepare a statement reconciling the adjusted balance in the cash book with the balance shown in the

Dise -ch- 800
_37 Abill for Rs. 22 ,800 was discounted from the bank, entered in the cash book but proceeds
credited in bank statement amounted to Rs.

(22,000pnly

N
—4) The bank had debited a cheque for Rs. 450 by mistake, it should have been debited by
them to another A/c holder.

e’

C£>
/@’A cheque for Rs. 1,18,000 issued, was not taken in th =

%Q\ O.s ?ar ?)0_'\ Go \)cf

V) + —

—+ nawe —
—300 —“+&00
— 430 +4sS0

- \&0 00 +H1&oQD

e Cho‘)\ijé_\gr

A7
@ feol Cash. ook
e TAwukb (lr.
- \js 862\\

+362v

Attempt the Test of this chapter : https://ymtcr.courses.store/389106?utm source%3Dother%26utm medium%3Dtutor-
course-referral%26utm campaign%3Dcourse-overview-webapp

Download the "Avyukt" Application for Live Classes and Notes: ht

:/ fon-app.in/app /home?
orgCode=ymtcr&referrer=utm_source%3Dco

-link%26utm_medium%3Dstudent-app-referral

Join this Telegram Group : https://t.me/targetcafoundation

bank statement.
% x
Important Adjustments: bus . Bank AL G
47 Amount transferred from Fixed Deposit A/cinto the current A/c Rs. 2 000 appeared in the
pass book - i
[ —
J)’The debit balance of Rs. 8624 as on the previous day, was brought forward as credit 9 r

balance in cash book _— &62y4

_Dr Qeay
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Question: i 8133"

Reliance Ltd. Purchased a second hand machine for Rs 56,000 on October 01, 2021 and spent Rs
28,000 on its overhaul and installation before putting it to operation. It is expected that the machine
can be sold for Rs 6,000 at the end of its useful life of 15 years. Another machine costing s Rs.1,00,000
was purchased on 1st AEl‘ll 2022 having useful life of 10 years with no residual value. Prepare
machine account and Provision for depreciation account for the years ending 31st March, 2022, 2023
& 2024 charging depreciation by fixed Instalment Method.
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Question:

Reliance Ltd. Purchased a second hand machine for Rs 56,000 on October 01, 2021 and spent Rs
28,000 on its overhaul and installation before putting it to operation. It is expected that the machine
can be sold for Rs 6,000 at the end of its useful life of 15 years. Another machine costing Rs.1,00,000
was purchased on 1st April, 2022 having useful life of 10 years with no residual value. Prepare
machine account and Provision for depreciation account for the years ending 31st March, 2022, 2023
& 2024 charging depreciation @ 10% p.a. on WDV
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A firm purchased on 1st January, 2018 certain machinery for ¥5,82,000 and spent & 18,000 on its erection. On
July 1, 2018 another machinery for < 2,00,000 was acquired. On 1st July, 2019 the machinery purchased on
1st January, 2018 having become obsolete was auctioned for ¥ 3,86,000 and on the same date fresh machinery
was purchased at a cost of 4,00,000.

Depreciation was provided for annually on 31st December at the rate qf 10 per cent p.a. dn written down value.
Required

Prepare machinery account.
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On April 1, 2018 a firm purchased a machinery for ¥ 2,00,000. On 1st October in the same accounting
year, additional machinery costing ¥ 1,00,000 was purchased. On 1st October, 2019, the machinery
purchased on 1st April 2018, having become obsolete was sold off for ¥ 90,000. On October 1, 2020,
new machinery was purchased for ¥ 2,50,000 while the machinery purchased on 1st October 2018 was
sold for ¥ 85,000 on the same day. The firm provides depreciation on its machinery @ 10% per annum
on original cost on 31st March every year. Show Machinery Account, Provision for Depreciation Account
and Depreciation Account for the period of three accounting years ending March 31, 2021.
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2. (a) The following balances appear in the books of Dheeraj Enterprises : ‘\"\_mw
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Machinery account as on 01.04.2021 . —({12,00,0005—
Provision for depreciation account as on b1.6'4.2021 4,65,000 110800
// . ——j--.s (6]
On 1% October 2021 the Machinery which was purchased on 1 April 2018 for
T 2,00,000 was sold for % 1,10:000 and on the same date another Machinery was
purchased for ¥ 4,80,0000 The firm has been charging depreciation at 10% p.a. on
written down value of the Machinery every year. Prepare the Machinery account,
Provision for Depreciation account and Machinery disposal account for the year
ending 31* March 2022. R R (10 Marks)
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M Machinery Account of a Factory showed a balance of & 95 Lakhs on 1st April,2020.
The Books of Accounts N

Depreciation is written offof the Factory are closed on 315@@ every year and @ 10%
per annum under the Diminishing Balance Method. On 15t September, 2020 a new machine _~
was acquired at a cost of ¢ 14 Lakhs and ¢ 44,600 was incurred on the same day as
installation charges for erecting the machine. On 1st September,2020 a machine which had
cost & 21,87,000 on 1 April,2018 was sold for ¥ 3,75,000. Another machine_which had
cost & 21,85,000 on 1st April,2019 was scrapped on 15t September,2020 and it realized
nothing.

Prepare Machinery Account for the year ended 31st March,2021. Allow the same rate of
depreciation as in the past and calculate depreciation to the nearest multiple of a rupee.

Also show all the necessary working notes. (10 Marks)
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M/s Anshul & Co. commenced business on 1st January 2015, when they purchased plant and equipment for
¢7,00,000. They adopled a policy of charging depreciation at 15% per annum on diminishing balance basis and
over the years, their purchases of plant have been: ="

1-1-2016 1,50.000
1-1-2019 — 2,00,000
« On 1-1-2019 it was decided to change the method and rate of depreciation lo straight line basis. On this date
remaining useful life was assessed as S_Ears for all the assets purchased before 1.1.2019 with no scrap value
and 10 years.for the asset purchased on 1.1.2019.
Required
Calculate me@n de_;__a:e;c_ia_:r‘gq_to be adjusted in the Plant and Equipment Account for the year ending
§1sr December; -
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(c) A purchased a machinery for Z1,30,000 on 15t April, 2019 and paid & 20,000 for freight &
installation charges. On 15LQgtober, 2021 another machine was purchased for 50,000 and
sold old machinery for 00. The machine purchased on 1! October, 2021 was
installed on 1st January, T

Under existing practice, the company is charging depreciation @ 20% p.a. on the original
cost. However, from 15t April, 2021 it decided to adopt WDV_method and charge

depreciation @15% p.a. You are required to prepare Machmegg Account from 1! April,
2019 to 31st March, 2022. (4 Marks)
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A Machine costing £6.00.000 is depreciated on straight line basis, assuming 10 years working life and Nil residual
value, for three years. The estimate of remaining useful life after third year was reassessed af § years.

Regquired

Calculate depreciation for the fourth year.
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" Amazing group had Property, Plant & Equipment (PP&E) with a book value of ¥ 35,00,000 on 31st
December 2019. The balance in Revaluation Surplus on that date was ¥ 3,00,000. As part of their
practice of revaluing the assets on yearly basis, another revaluation was carried out on 31st December
2019. Evaluate the impact of Revaluation if the Fair Value as a result of Revaluation done on 31st
December 2019 was (a) ¥ 37,00,000 (b) T 33,00,000 and (c) ¥ 31,00,000. Also, give the journal entries.
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Attempt the Test of this chapter : https://ymtcr.courses.store/389106?utm source%3Dother%?26utm medium%3Dtutor-
course-referral%26utm campaign%3Dcourse-overview-weba;

Download the "Avyukt" Application for Live Classes and Notes: http:

on-app.in/app/home?
orgCode=ymtcr&referrer=utm source%3Dco;

-link%26utm medium%3Dstudent-a

-referral

Join this Telegram Group : https://t.me/targetcafoundation
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Vijay sold goods to Pritam on 1st September, 2019 for < 1,06,000. Pritam immediately accepted a three months

bill. On due date Pritam requested that the bill be renewed for a fresh period of two months. Vijay agrees provided

interest at 9% p.a. was paid immediately in cash. To this Pritam was agreeable. The second bill was met on due
date Give Inurnal entries in the hnoks of Viiav and Pritam




date. Give Journal entries in the books of Vijay and Pritam.
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bill. On due date Pritam requested that the bill be renewed for a fresh period of two months. Vijay agrees provided
interest at 9% p.a. was paid immediately in cash. To this Pritam was agreeable. The second bill was met on due
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Renewal, Retirement & Insolvency

24 October 2023 11:37
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On 1st January, 2020, Ankita sells goods for ¥5,00,000 to Bhavika

and draws a bill at three months for the

amount. Bhavika accepts it and returns it to Ankita. On 1st March, 2020, Bhavika retires hér acceptance under
rebate of 1 ?ﬁ per annum. Record these transactions in the journals of Ankita and Bhavika.
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Mr. David draws two bills of exchange on 1.1.2020 for & 6,000 and & 10,000. The bills of exchange for & 6,000
is for two months while the bill of exchange for 10,000 is for three months. These bills are accep{ed by Mr.
Thomas. On 4.3.2020, Mr. Thomas requests Mr. David fo renew the first bill with interest at 1 8%p  18% p.a. for a period

of two months. Mr. David agrees to this proposal. On 20.3.2020, Mr. Thomas retires the acceptance for 10,000, -~

the interest rebate i.e. discount being _?100 Before the due date of the rengwed bill, Mr. Thomas becomes
insolvent and only 50 paise in a rupee could be recovered from his estate. BRI-GOOO — 2 UAae”

You are to give the journal entries in the books of Mr. David.

_BRZ-1D.00D -3m  Uu2d

120

Wit Inb- Govox 18 5 2 g0

oo N 1 = I Hhe bOok,oL Mr. Dauid

11.20 Aill. RQC.. 1) Qv- Good — i

T &l th. (2) O 10000 &
o My Thomas (6000

4220 Thomas D 6000

G O v £ -

Journa)

,‘\-—
7\ —— L\__’lo ’lFIDmG.\ QT- \%0
Gaan - T Qnt



42920 Thomas Dv- 6000/
To B|RM 000
(203 BIR 19 O 6iko
To Woma 690
T nbm, 180
20320 Rank Al Ov. 9900
- Dige Ov 100
To BIR () 10000
152 —  Bank 2090
e E)(ld P(\jeb‘» ’gf\ 2090 b
T Bk 6lko
Z
buyev L2

= 4220

1

Dm(i 3 DT
To in‘ S0

b BR(2) @

“To Thomas 6180

- 6

Thomas O G180
To BIR 6180
4

51520

Bank Dv 3090
204 deb! 209

’{Do Ahomer 618D

8. Priya owed ¥5,00,000 to Pratika. On 1st October, 2022, Priya accepted a bill drawn by
Pratika for the amount at 3 months. Pratika got the bill discounted with his bank for
%4,95,000 on 3rd October, 2022. Being unable to pay the amount on due date, Priya
approached Pratika for renewal of the bill. Pratika _agreed on the conditions that

per annum fof 3 months and for the balance, Priya should accept a new bill at three

4 2.50,000$ately together with interest on the remaining amount at 10%
, Pri d i
months. These ments were carried out. But afterwards, Priya became insolvent

and 60% of the amount could be recovered from his estate.

Pass journal entries (with narration) in the books of Pratika.
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Prepare Journal entries for the following trans\a/ctions in Samarth’s books.

Sa%ﬁrth s acceptance to A Aarav for ¥ 1,250 discharged by a cash payment of ? 500 -
and a new bill for the balance plus I Eior interest. Orcser
e ey a

G. Gupta's acceptance for ¥ 4,000 which was endorsed by Samarth to Sahni was
dishonoured. Sahni paid ¥ 20 noting charges. Bill withdrawn against cheque. ¥ _-

_Aiify” Harshad retires a bill for ¥ 5,000 drawn on him by Samarth for ¥ 20 discount.

\1% Samarth’s acceptance to Patel for ¥ 19,000 cii&m_rggd_by_Sandeep Chadha’s
acceptance to Samarth for a similar amount.
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Accommodation
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commodation
A

(a) T draws on J a bill of exchange for ¥ 1,80,000 on 1st April, 2022 for 3 months. J accepts —
the bill and sends it to T, who gets it discounted from his banker for & 1,72,800. T
immediately remits & 57,600 to J. On the due date, T, being unable to remit the amount
due, acce%s abill for 2,52,000 for three fonths, which is discounted by J from his banker
for 2,40.660. J sends 40,440 to_T. Before the maturity of the bill, T becomes bankrupt

and hr‘s estate pazing ﬁftz paisa in a rupee.

Give the journal entries in the books of T an ‘/J (15 Marks)
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On 1st July, 2019 Gorge drew a bill fog ¥1,80,000 for 3 months on Harry for mutual accommodation. Harry
accepted the bill of exchange. Gorge had purchased goods worth ¥1,81,000 from Jack on the same date. Gorge
endorsed Harry's acceptance to Jack in full settlement. On 1st September, 2019, Jack purchased goods worth

¥1,90,000 from Harry. Jack endorsed the bill of exchange}:cewed from Gorge to Harry and paid X_9,000 in full
arry. On 1st October, 2019, Harry purchased goods worth 2,00,000 from

settlement of the amount due ta
Gorge. Harry pafd the amoun @ Gorge by cheque. Give the necessary Journal Entries in the books of Harry
and Gorge.
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Attempt the Test of this chapter : https://ymtcr.courses.store/389106?utm source%3Dother%26utm medium%3Dtutor-

course-referral%26utm campaign%3Dcourse-overview-webapp

Download the "Avyukt" Application for Live Classes and Notes: http://on-app.in/app/home?
orgCode=ymtcr&referrer=utm source%3Dcopy-link%26utm medium%3Dstudent-app-referral

Join this Telegram Group : https://t.me/targetcafoundation
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40.00,000

Finopolis Limited is a company with an authorized share capital of ¥ 4,00,00,000 in
equity shares of ¥ 10 each, of which 30,00,000 shares had been issued and fully paid on
30t June, 2022. The company proposed to make a further issue of 2,60,000 shares of
T 10 each at a price of ¥ 12 each, the arrangements for payment b emg

(i)
(ii)

¥ 2 per share payable on application, to be received by 12@1_2_02_2)

+7_

l'l

Allotment to be made on 10“q July /2022 and a further ¥ 5 per share (including the 2 \ S

premium) to be payable; /

(i) The final call for the balance to be made, and the money received by

;l*«pphmE @ were received for 8,40,000 shares and were dealt with as follows:

(1)
(2)

@)

4)

':__J__:b—
Applicants for 40,000 shares received allotment in full; Z 4\

Applicants for 2,00,000 shares received an allotment of one share for every two

applied for; no money was returned to these applicants, the surplus on application
being used to reduce the amount due on allotment;

Applicants for 6,00,000 shares received an allotment of one share for every five
shares applied for; the money due on allotment was retained by the company, the
excess being returned to the applicants; and

The money due on final call was received on the due date.

You are required to record these transactions (including cash items) in the journal of
Finopolis limited.
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BP Limited issued a prospectus inviting applications for 1,20,000 equity shares of & 10

each at a premium of ¥ 2 per share payable as follows: 042

On Application . Z 3 per share 3/ 5‘ 'y
On Allotment - ¢ & per share (including premium) (342
On First and Final Call ~ - ¢ 4 per share

Applications were received for 3,60,000 equity shares. Applications for 80,000 shares were
rejected and the money refunded. Shares allotted to remaining applications as follows:

Category No. of shares Applied No. of shares Allotted
/ 1,60,000 80,000
] 1,20,000 40,000

Excess money received with applications was adjusted towards sums due on Allotment
and the balance amount returned to the applicants. All calls were_made dug “received

except iheby a shareholder belonging to Category | who has applied for 680
shares. His shares werg d) The forfeited shares were reissued at r share
fully paid-u,

yp pE sh Cap-
Pass necessary journal enrnes for the above transactions in the books of BP Ltd, Open

call in arrears account whenever required. (15 Marks)
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(a) PQR Limited issued 2,00.000 equity shares of, 10 each payable as ¢ 3 per share on
application & €5 per share (including & 2 as premium) on allotment and & 4 per share on
call. All these shares were supscribed. Money due on all shares was fully received except
from Mr. J holdmgwho failed to pay -the allotment and call money and Mr.
K. holding 10,000 shares, who failed to pay the call money. All these 15,000 shares were

forfeited. Out of the forfeited shares, 10,000 shares (including whole of J's shares) were
subsequently re-issued to Mr. L as fuﬂz paid up at a discount of &1 1 per Share.

Pass necessary journal entnes in the books of PQR Limited. Also prepare Balance Sheet
and notes to accounts of the company. (15 Marks)
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_ Ashish applies for 2,000 shares of ¥ 10 each at a premium of T 2.50 per share. He was allotted

1 ,000 shares. After having paid X 3 per share on application, he did not pay the allotment money

of ¥ 4.50 per share (including premium) and on his subsequent failure to pay the first call of ¥ 2

per share, his share were forfeited. These share were reissued at ¥ 8 per share, his-shareswere
Aforfeited. Paid - VP X = Cdtle.duP \/ -

)
At the time of re-issue of forfeited shares of Mr. Ashish, final call money an?eunt all other
shareholders were duly called up.

You are required to pass journal entries to record forfeiture and reissue of shares.




You are required to pass journal entries to record forfeiture and reissue of shares. 10435
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(a) A Limited issued 20,000 Equity shares of, 10 each at a premium of 10%, payable ¢ 2 on

application; ¥4 on 7 allotment (including premrum) ¢ 2 on first call and balance on the final
call. All the shares were fully subscribed. Mr. M who held 2000shares paid full remaining ,

amount on first call itself. The final call which.was made after 4 months from the first call
was fully paid except a shareholder having @ ares and one another shareholder having
#

Nhares. They paid their due amount affer 3 months and 4 months respectively along
WITIT interest on calls in arrears, Company also paid interest on calls in advance to Mr. M.
The Companv maintains Calls in Arrear and Calls in Advance A/c. Give iournal entries to
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kWlterest on calls in arrears, Company also paid interest on calls in advance to Mr. M.
The Company maintains Calls in Arrear and Calls in Advance A/c. Give journal entries to
record these transactions. Show workings of Interest calculation. (Ignore dates).

(15 Marks)
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A and B are partners sharing profits and losses in the ratio of their effective capital. They had ¥ 1,00,000 and &
60,000 respectively in their Capital Accounrs as on 1st Janu__[y 2019.

A introduced a further capital of T 10,00 000 on 1st April, 2019 and anoiher 1st July, 201
September, 2019 A withdrew 40, 000, —
On 1st July, 201@@&:06(1 further capital of 30,000.
Qfad. \ w\t
The partners drew the following amounts in anticipation of proﬁt ogain %

Adre UO per monfh at the end of each month beginning from January, 2019. B dre ?1 OOG on 30m June,
and @r 30th September, 2019.

12% p.a. interest on capital is allowable and 10% p.a. interest on drawings is chargeable. Date of closing
31.12.2019. Calculate: (a) Profit-sharing ratio; (b) Interest on capital; and (c) Interest on drawings.

o] EkLcohg Ca\D a

Date A Months Prod..

|| 201 |00.000 3 200000 %12 41
(00 1

|4|a L0000 > 320,000

afig 115000 3 215000

Bolaliq 15000 3 225000 p

&\ cﬂ‘) 00000

llo=

Date Ghbd. Mot Peeod..
e 60000 5 360,000
11| Q0,000 E40.000

6LL u:i: Q00,000

/PSK: IQ68000  Goo-080
e

b)  dton op

- 12 1, (300000 -|000
ﬁ Ioo* 2.7‘

& - IO x ,L x G00.000 - 9000
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Ram and Rahim are in partnership sharing profits and losses in the ratio o @ Ram, on account of
his advancing years, feels he cannot work as hard as before, the chief clerk of the firm, Ratan, is admitted
as a partner with effect from 1st January, 2019, and becomes entitled to 1/10th of the net profits and

nothing else, the mutual ratio between Ram and Rahim remaining unaltered.” L RtM-Sh 50 < &\T ‘}3—2
lal

. o

Before becoming apartner, Ratan was getting a salary of ¥ 500 p.m. together with a commission of 4%

on the net profi educting his salary and commission.

It is provided in the partnership deed that the share of Ratan’s profits as a partner iif excess)of the
amount to which he would have been entitled if he had continued as the chief clerk, shoul ken out

of Ram’s share of profits.

The net profit for the year ended December 31, 2019 is ¥ 1,10,000. Show the distribution of net profit

amongst the partners.
\QI_TI\E Aok Fajab\x o Rolon a0 @ ChIK.L duk

Salayy - 6000

Commission booo
'-i_x[{.m_oo 0-6000| | ___

oY 10,000
Amt ’Fﬁ\\job\e.m a ?)cnjmer

ulﬁ x Woooo = 1.00Dd

Sxess 1000

tar pl\)cf:\cundad :

To prolt ¥l 4o part ap E’fj peL M [N pof)

Ram (315 xiaco0) - 60,000
' 1000 | 59000

Rohim - 40000 | Y0.000

Rcrl'anﬁ 0.000
4 1000 Iadto

110,000
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X 1. Weak, Able and Lazy are in partnership sharing profits and losses in the ratio of 2:1:1. It is agreed that
Qe 22 interest on capital will be allowed @ 10‘}(Eer annum and interest on drawings will be ohar@ @8%
"CQ‘!'/ per annum. (No interest will be charged/allowed on Current Accounts).

The following are the particulars of the Capital and Drawings Accounts of the partners:

Capital (1.1.2019) ~/ ; : 30,000 |
Current Account (1.1.2019) - 10000 ] 5000 | (0r)5000
Drawings Q4. pro\it (150 {15,000 | dom 410,000) 10,000

The draft accounts for 2019 showed a net profit of T 60,000 before taking into account interest on capitals
and drawings and subject to following rectification of errors: Ofa 2Ny

(@)

Life Insurance g\femium of Weak amounting to ¥ 750 paid by the firm on 30th June, 2019 has -(I.)fa&". Of-
been charged to Miscellaneous Expenditure Alc. — gt ToMie C‘P

Pmli} .L ,{H)/ Repairs of Machinery amounting to ¥ 10,006 has been debited to Plant Account and
—

T

You

depreciation thereon charged @ 20%, - ’lmp AL ]

e DO rawi bR

Travelling expenses of ‘@‘ of Able for a pleasure trip to U.K. paid by the firm o @
2019 has been debited to Travelling Expenses Account. v

are required to prepare the Profit and Loss Appropriation Account, Current Accounts of partners

Weak, Able and Lazy for the year ended 31st December, 2019.
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13. P, Qand R were partners in a firm sharing profits in the ratio fter division of the

o3in
profits for the year ended 3.03.2022 their capitals were: P Rs . 150,000. Q Rs. 1,80,000 k_;:—lj

and R Rs. 2,10,000_ During the year they withdraw Rs. 20,000 each. The profit of the
year was Hs. 60,000 The partnership deed provided that interest on capital will be

allowed @ 10% p.a. While preparing the final accounts, interest on partners’ capital was
not allowed

You are required to pass the necessary adjustmen} entity for providing interest on capital.

\WN | Cal. oL oF Colo ball .

A

CL ca‘)&oﬂ 1‘90 000 180000  &i0000
Hda: O quJ.n 0,000 20,000 20000
e PnaL ik Shorc (Qooo)  ( Quom) Q4000
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14. (a) A, Band f entered intopartne
ratioof 5: 3 : 2.)(A pe
interest itals a - x

of A, B and C were ¥ 960,000, ¥ 6,00,000 and ¥ 4,80,000 respectively.

Profits for the year ending 31_.12.2021@ providing for interest on partners
capital was ¥ 4,77,000.

You are required to prepare the Profit and Loss Appropriation Account.
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14. (a) A and B are partners in a firm sharing profits and losses equally. On 1st April, 2020

the balance of their Capital Accounts were : A ¥ 50,000 and B ¥ 40,000. On that
date the balances of their Current Accounts were: A T 10,000 (credit) and B
3,000 (debit). Interest @ 5% p.a. is to be allowed on the balance of Capital
Accounts as on 1.4.2020. B is to get annual salary of ¥ 3,000 which had not been
withdrawn. Drawings of A and B during the year were ¥ 1,000 and ¥ 2,000
respectively. The profit for the year ended 31st March, 2021 before charging
interest on.capital but after charging B's salary was X 70,000. It is decided to
transfer‘ of divisible profit to a Reserve Account. Prepare Profit & Loss
Appropriation Account for the year ended 31st March, 2021 and show Capital and
Current Accounts of the Partners for the year.

O - £ H‘)leﬂ{ Cr..

To B So\oﬁ 3000 | b ?&L Pflt 13000
j ( To.008 +3000)
To Ot on C.Ok)
- Q500
Q)‘ 2000 43svo
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[655 o X190
|0
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(be.y}b
14. Ved, Jain and Agrawal are in partnership sharing profit and losses at the ratio of 2:5:3.

W CcL Cﬂl) Em\: Clca

The Balance Sheet of the partnership as on 31.12.2022 was as follows: . 202t
Balance Sheet of M/s Ved, Jain & Agrawal. QL-@- 4

Liabilities T | Assets 3

w Sundry fixed assets 15,00,000

2,55,000 | Inventory 3,00,000

Jain 9,45,000 | Trade receivables 1,50,000

Agrawal 6,75,000 | Bank 15,000
Trade payables 90,000

19,65,000 19.65.000

The partnership eamned profit( ¥ 6‘00.000) in 2022 and the partners withdrew
¥ 4,50,000 during the year. Norma m 30%.
You are required to calculate the value of goodwill on the basis of 5 years' purchase of
super profit. For this purpose, calculate super profit using‘average capital employed.
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14. The profits and Iosses for the previous years are: 2019 Profit ¥ 15,000, 202{] Loss
¥ 25,500, 2021 Profit ¥ 75,000, 2022 Profit ¥ 1,12 500. The average Capital employed in
the business is ¥ 3,00,000. The rate of interest expected from capital invested is 10%: NRR

The remuneration from alternative employment of the proprietor ¥ 9,000 p.a. Calculate
the value of goodwill on the basis ofses of Super Profits based on the

average of 4 years.
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R and S are partners in a firm with a capital of 14,00.000 and 12,00.000 respectively.
During the year ended on 31+t March, 2022 firm earned a profit of ¥ 6.50.000. Assuming
that the normal rate of return :’ Calculate the amount of Goodwill of the firm by using

(i) Capitalization method

(i)  Super Profit method, if the goodwill is valued rchase of super profits.
(5 Marks)

@ CaF, Method
G - Cab valu of iy - Achal Cab £mp
CO‘)valuc o) Lmq: 650,000 x\_&%
%) 50000 - Q600000

- ©50.000

—_———

) gu‘)ei (Pm\i\:

Norma) ?Wbt‘t - 8600000 20

100
- 590,000
SUFLI r‘?ﬁ)k'.)c = (S0000 - 52000
= 130000
G - 130000 xb
. _%0.0GD

a Mr X gives the following particulars in respect of business carried on by him:

Particulars — | Amount (9
Capital Invested in business 9,00,000
Market rate of interest o investment ) ] U-J-
Rate of risk return on capital invested @ 3% )" =

Remuneration per annum_from alternative employment of (36,_055“)
proprietor if he was not engaged in business

The business earned profits of ¥ 2,40,000, ¥ 2,16,000 and ¢ 3,00.000 in the years 2018,
2019 and 2021 respectively but made a loss of ¥ 36.000 ip the year 2020.

Compute the value of Goodwill on the basis of 6 years' purchase of super profits of the
business, calculated on the basis of average profit of last four years. (5 Marks)

WN C\u.ﬂ PmLatf Q40,000 +booor 300000 - 3600 - 180,000
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Cu and Au were in partnership sharing profits and losses i .-n the rafro 5:3. On 1st April 2020, they decided to admit
_Ag the partnership on the following terms:

1. Ag will bring € 2,00,000/- as capital for % share. — 12000 18000
2 New profit sharing ratio shall be 2:1:1 among Cu, Au and Ag. _30_09_[
3 (Cowas entitied to salary of 72000 5m bm., it was revised to 3,000 p.m. from 1st October 2018.
"~
4, Interest on capital was paid at 8% p.a. L8/
e
5 Capitals as on 31st March 2020 were Cu ¥ 4,00,000 Au ¥ 3,00,000, which had remained unchanged

ince I; %
since last four years e

6. Goodwill was to be valued on the basis of 3 years purchase of average adjusted weighted average profits
of past 4 years. The profits of previous four years, before charging interest on capital and salary to Cu

were as follows:
Year Profit
2016-17 2,10,000
2017-18 2,60,000
2018-19 2,10,000
2019-20 3,056,000
These profits were subject to following rectification S N H‘\‘

Ex
@ A machine costing ¥ 40,000 purchased on 1st October, 2018 was wrongly charged to revenue. —
The machinery was depreciated at 20% p.a. on written down value method T

@  stockon 31st March 2018 wagever valued BY)Y 20,000

@ There was a loss by fire amounting to & 10,000/~ in the year 2016-17 which was not considered
in trading account but correctly debited in the Profit & Loss a/c for that year.

i
(d) Debtors as on 31st March 2020 included bad debts of ¥ 5,800/ ?A ] L— .L
7. Ag shall bring his share of goodwill in cash.

You are required to calculate amount of goodwill Ag is supposed to bring and journal entry for the same.
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Wise, Clever and Dull were trading in partnership sharing profits and losses 4:3:3 respectively. The
accounts of the firm are made upto 31st December every year.

The partnership provided, interalia, that: // -
On the death of a partner I_he goodwill was to be valued at three years' purchase of average profits of the
three years uptothe date of the death after deducting interest @8 percent on capital employed and a fair
remuneration of each pariner. The profits are assumed to be earned evenly throughout the year.

On 30th June, 2019, Wise died and it was agreed on his death to adjust goodwill in the capital accounts
without showing any amount of goodwill in the Balance Sheet. .

It was agreed for the purpose of valuation of goodwill that the fair remuneration for work done by each
partner would be ¥ 15,000 perannum and that the capital employed would be ¥ 1,56,000. Clever and
Dull were to continue the partnership, sharing profits and losses equally after the death of Wise.

The following were the amounts of profits of earlier years before charging interest on capital employed.

4
2016 67,200
2017 75,600
2018 72,000
2019 400 -

You are required to compute the value of goodwill and show the adjustment there of in the books of the
firm.
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(b) A and B are partners, sharing profils and losses in the proportion-@f 3/4* and 1/4™ As at
31t March, 2021, following is the Balance_Sheet of A and B. @ SR 2) 10

Balance Sheet as at 315 March, 2021

Liabilities () | Assets (2

Capital accounts Cash in hand .~ —— 1,15,000
A ~ 285,000 L. Cash at bank —<—— 1,10,000
B ~ 1,55,000 | 440,000 | Sundry Debtors —1~ <3,60.000.P

Creditors 3,75,000 | Stock: — 2,00,

General reserve 60,000 | Bills receivable————— 30,000

~ | Land and building ~——2,50,000

Office furniture ——————#0.000

8,75,000 8,75,000

They agreed to take C into Partnership on 15 April, 2021 on the following terms:

./ﬁ)/ Goodwill is to be valued at ¥ 2,00,000. C is unable to bring cash for his share of
goodwill. So, it was decided that due credit for goodwill be given to A and B for their
sacrifice in favour of C through C's cu?n! account.

1~ C pays ¥1,40,000 as his capital for 1/5" share in the future profits.
(iii) - Stock and Furniture to be reduced by 10%.

~tiv) A provision @ 5% for doubtful debts to be created on debtors.
(v) Land and building to be appreciated by 20%.

4 Capital Accounts of the partners be readjusted on the basis of their profit sharing
arrangement and any excess or deficiency is to be transferred to their Current
Accounts.

Prepare Revaluation Account and Partners Capital Accounts. (10 Marks)
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Cﬁ? ﬂ‘lt A‘s GJfY(M Pq( L\‘!ﬁw
. 420,000 Cs Currenk 40.000
140000 Bank 250,000
C’ l4opd | 100000 |(110000+140000 ]
Crediton 315000 B Rec 30000
| Sh \ 180,000
Bs Guirnt H\g L4Sasv Fum. Qooo
Debton 16000
crprov ( 8oowd 52000
Cashinhand | 115000
RO Lond %%m\d 3 0.000
TEGSEN (1020
\WNL C“]"‘L“J—_:ad J New 'l)(]it Gap % Kw?miml
Total CQ\D - 140000 x5
= 100000 .~
1)
The following was the balance sheet of A, B and C who were equal partners on January 1, 2020
Bills Payable 3,000 | Cash 1,000
Creditors 6,000 | Debtors 10,000
Capital Accounts : Stock 12,000
A 20,000 | Furniture
B 15,000 | Buildings Qﬁ)
c 10,000 | Bills Receivable 1,000
54,000 54,000
They agree to take D into partnetshlp and give him a 1/4 share in the profits on the following terms:
D should bring in Z_6,00( 000 for goodwill and 2 10,000 as capital; L
Hhe goodwill shall be withdrawn by old partners;

(3] SToTk and furmture be deptecnated by 10%.

a liability off 1,300 be created against bills discounted;

(5] the building be valued at ¥_40,000; g



(3) SIOCK ana rurniiure oe gepreciateq oy W7, -

(4) a liability of? 1300 be created against bills discounted;

(5) the building be valued at ¥ 40,000; W =
(6) the values of liabilities and assets other than cas
Give the necessary entries to give effect to the above arrangement; prepare revaluation account and

s
Mcmo

opening balalcis_tlg_el of the firm as newly constituted.
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15 A, B and C are partners sharing profits in the ratio of 3 2:1. Their Balance Sheet as at
315t March, 2023 stood as:

Liabilities T | Assets T
Capital Accounts Building ——=—— 10,00,000
A 8,00,000 Fumiture ~_— (240,000
B 4,20,000 Office equipments +=——| 2,80,000
C 4.00,000 | 16,20,000 | Stock 2,50,000 |
Sundry Creditors— e 3,70,000 | Sundry debtoy 300000 1'5000
W 3.601}@‘1‘?55: Provision for
6 | Boubtful debts 30.000| 270,000/,
] Joint life policy - (160,000} Surcender
CashatBank___| 150000| Valwe
23,50,000 23,50,000
B retired on 1 April, 2023 subj i itions: o fark Gy e
i ject to the following conditions: T TP J_
(i) Office Equipment's revalued at ¥ 3,27,000. St

(ii) Building revalued at ¥ 15,00,000. Fumlture is written down by ? 40,000 and Stock is
reduced to ¥ 2,00,000 .

‘_,(iiﬂ/Prowsnon for Doubtful Debts is to be created @ 5% on Debtors.

Joint Life Policy will appear in the Balance Sheet at surrender value after B's
retirement. The surrender value is ¥ 1,50,000

Goodwill was to be valued af 3 years purchase)of average 4 years profit which

were:_
Year 4
2019 90,000 | Lgo00o
2020 140000 [ 1, *13000 3
2021 1,20,000 Al

2022 1,30,000 A
) 7 ) 12000
(vi) Amount dué to B is to be transferred to his Loan Account.

Prepare the Revaluation Account, Partners' Capital Accounts and the Balance Sheet
immediately after B's retirement.

Particulars Amount Particulars Amount
To Lum Y0000 }j U’ 41000
To VSt 50,000 b P &uld | 500000
T JWP 10,000 by pov. 15000
To mnoﬂRw

& Vazooo

B - [Shom

C° 0ood Yb21000




= V2200
B - IS4ot
C° 11000 Y462L00D

Vs
Particulars R- (P‘ ( Particulars A- B C
bol bld | &oomn 400w (p00m
To B Cafﬁi. Go.000 30000 QL 180000 12000| Eoooo
% 23wod 154000 | T1000
To & Lount 8luo0 Q)j AC 120000
Gap ),
To baleld  [N2loo0 501000
Liabilities Amount Assets Amount
G ol| eq. 321000
M- [l k’ g‘uild 1500000
- 501000 |[6Q&000 ey 200000
_ Shro 900000
'2)1 Loan RB14000 | Debhn 300.000
%o U5000) | 85000
Cred. 310000 JLP 150.000Q
Cahat bonk | IS0.000
812000 Q8Row®
‘rh\]’bl'
=

s
15 On 31% March,2022, the Balance Sheet of Aadi, Arnav and Aarush sharing profits and
losses in proportion to their Capital stood as below: 7 :.3.7)

Liabilities T | Assets T
Capital Account: Land and Building il 1,20,000
® Mr. Aadi Plant and Machinﬁ 80,000 24003

gy Mr. Amav Sockofgoods 48,000
Mr. Aarush Sundry debtors 44,000

Sundry Creditors Cash and Bank Balancés | C';/za,o
3.20,000

-

On 1%t April, 2022, Aadi desired to retire from the firm and remaining partners decided to
carry on the business. It was agreed to revalue the assets and liabilities on that date on
the following basis:

AT Land and Building be appreciated by 20%. Plant and Machinery be depreciated by
30%.

(i)~ Stock of goods to be valued at T40,000. Old credit balances of Sundry creditors,
8,000 to be written back.

_List~ Provisions for bad debts should be provided at 5%. Joint life policy of the partners Bonh Ov 321":“
surrendered and cash obtained ¥ 30,200 = %] L? 0

;-3_ A e Goodwill of the entire firm is valued at 56,000 and Aadi's share of the goodwill is P q_,\“



surrendered and cash obtained T 30,200.% —

Qg 5 b,m" Gooduwill of the entire firm is valued at 356,000 and Aadi's share of the goodwill is
X= adjusted in the_Alcs of Amav and Aarush, who would share the future profits
16003? equally. No goodwill account being raised.

@ The total capital of the firm is to be the same as before retirement. Individual capital
is in their profit sharing ratio.

'_/(,vi-)' Amount due to Mr. Aadi is to be settled on the following basis: @ 50% on retirement
and the balance 50% within one year.

Prepare (a) Revaluation Account, (b) Capital Accounts of the partners, (c) Cash and
Bank Account and (d) Balance Sheet of the new firm M/s Amav & Aarush as on

1.04.2022.
Ov. rs
Particulars Amount Particulars Amount
To P&M Quood By Lond 88ul | Quooo
lo Stock 8000 7 by cred. 8000
To ’Pmu- Lm DD 2200
bj Los on Reu
A - 629
A - ayvr
© 624 2200
Q\( '1123_9__9@ 152942 0
o I .
Particulars Ao Pinay  Pvush  Particulars Aodi  Asnay | Prushy
To f\ada mP kooo 12000 Dybal bld 80000 1200w [S0.000
by Amavd loood —
TRy (64 qu 61
%3:&? 8629 12342 | Q62
To %_a_n\’( 52000
Tohadiloun | 62000 bj Bank, \Qooo | 6400
To baf cAd l4oooo 140000 R
Dr Bank A Ch
Particulars Amount Particulars Amount
~ To bal bld | 8000
lo JLP 30200 bj Radi cap 52000
To Arnov Ca 12000 5 g
\dd 2200
To Arab 6U00D ™)

—

o . o = = o bonR ‘L.}V 50400
_ iy~ Provisions for bad debts should be provided at 5%. Joint life policy of the partners To 1P 20200
___————I—_"

TR 3020
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To Pﬁﬂﬂ.v]'z_l—'z’f-—%‘
™ Prush



.CnF c- Arnav | 140000 Lond L Rul. 44000
l]mh 140,000 Plat &Mach | 56000
.S’roc& 40,000
hadi Loan A, 52000 | Qebon- ' Huom
Crediton 32000 s Ptove (Q200) | H1800
%oﬂ’?\ Q2200
26400 264000
old Ned
N qrncw S-1. 62 - -L Gan
“‘ 1. 2 Iy v
l:]rush- 2.1 417 . -2 (am
7l 2 4 \y
12
ﬂlmu Cﬁ‘? Or- Yoo
;\n,,h Cap 12000
£ Hodi Gp M< 16000

&

Acme & Co. is a partnership firm with partners Mr. A, Mr. B and Mr. C, sharing profits and
losses in the ratio of 10:6:4. The balance sheet of the firm as at 315t March, 2021 is as

under: _- L

Liabilities T | Assets T
Capitals: land ——mm 30,000
Mr. A 2,40,000 Buildings .~ 6,00,000
Mr.B 60,000 Plant and rnachineryf—-—' 3,90,000
Mr.C 90,000 | 3,90,000 | Furniture 1,29,000

m Investments 36,000 [+9000
( (un-appropriated profit) > Inventories /———&90,000
“tongFermDept — | 9,00,000 | Trade receivables——— 4,17,000

Bank Overdraft £ 132,000 >
Trade payables 5,10,000

19,92,000 19,92,000

It was mutually agreed that Mr. B will retire from partnership and in his place Mr. F will be
admitted as a partner with effect from 1% April, 2021. For this purpose, the following
adjustments are to be made:

Goodwill is to be valued at 3 lakh but the same will not appear as an asset in the
books of the reconstituted firm. s i

-~
_Aby Buildings and plant and machinery are to be depreciated by 5% and 20%
respectively. Investments are to be taken over by the retiring partner at ¥ 45,000. - &

Provision of 20% is to be made on Trade receivab ver doubtful debts.
_4ey”"In the reconstituted firm, the total capital wilf be 6 lakhs which will be contributed
by Mr. A, Mr. B and Mr.rg in their new profit Shasing-ratio; Which is 2:2:1.

CQP Dl 116‘000
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_4ey”"In the reconstituted firm, the total capital wilf be 6 lakhs which will be contributed
by Mr. A, Mr. B and Mr. C in their new profit Sharing-ratio; Which is 2:2:1.

(i) The surplus funds, if any, will be used for repaying bank overdraft.
(i)  The amount due to retiring partner shall be transferred to his loan account.
You are required to prepare T
(a) Revaluation account;
(b) Partners capital accounts;
(c) Bank account; and
(d) Balance sheet of the reconstituted firm as on 1st April, 2021.

Particulars Amount Partleulars Amount
T Bl 30000 | by Jnv. 4000
To Madh 1800
To prov lor DD S3u00 Lo» on Rey
P L E]J - A1Lod
B- S4m
C- 36480 132400
w800 5;%}_9 “ ‘ -~ o
Particulars }%‘ '& C F- Particulars -A‘ lb C ‘:
bd bal bM Quoooo | 6ooos Tooon
To AR 60.000 60,00
To9nv . USo00 = b\] RQIJ 30000 (18000 200
To ﬁw 91200 |G4120 |3648D bj C&F | 30000| 9000
To &' Lmnk‘ 68280
'Djborn\?\ Jnm 2344% | 1800m
4
To baldd 3!10.000 oo l:l_q_ﬁr_m == ——

O Hank A\ (x.

Particulars Amount Particulars Amount

™ A (qr e 31200 b:j bal bld | 132000
s L th) ﬂ1 SREDA
s ¥ CGF ﬁ". | Q0000
I b.j bal cld 312680

Amount Assets Amount

SN | ancl 30000
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A - 24000 Buitd 510000
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A
_Diya, Riva & Kiya are partners of M/s. DRK Fabrics sharing profits and losses in the ratio of 2:1:% On

31st March 2020 their Balance Sheet was as under:

= Cq$ Q- 60.000

Capitals : Land & Building ————— 1,65,000
Diya 1,50,000 | Fumiture — 75,000
Riya 1,80,000 | Joint life Policy = @)
Kiya 70,000 | Inventory il 8

General Reserve 1,40,000 | Trade Receivable / —( 96,7 )

Trade payables — 60,000 | Bank —— e

6,00,000 6,00,000

va i o
_-Kiya died on 30th September, 2020. 4200
The partnership deed provides as follows: 'J—'

A That partners be allowed interest at 12% p.a. on their capitals, but no interest be charged on drawings.

Upon the death_of a padner, the goodwill of the firm be valued at one";ears' purchase of the average
net profits (after charging interest on capital) for the four years to 31st March preceding the death of a

partner. The profits of the firm before charging interest on capitals were

r ande 47 4 &9 nnn F\



@ Upon the death_of a padner, the goodwill of the firm be valued at one years' purchase of the average
net profits (after charging interest on capital) for_the four years to 31st March preceding the death of &

partner. The profits of the firm before charging interest on capitals were
Average capilal during precedmgwway be assumed 3 ,’
(c) Profits till the date of death to be asCemained on the basis of average profit o! four years %
(d) Upon the death of a pariner, she is to be credited with her share of the profils, interest on capilals elc.
calculated till the date of death

2016-17 1,62,000
2017-18 1,99,000
2018-19 1,87,000
2019-20 1,96,000

After the deathof Kiya_~ (e 'tlmmpc“___.@t
L/1./ &2,00,000 was received from insurance company against Joint life Policy.

2. Land & Building was appreciated by 20%, Furniture to be depreciated by 10%, inventory to be revalued
at ¥80,000. Bad debls amounted ¥ 1760. =

3. Amount payable to Kiya was paid in cash. -

You are required to prepare

1. Revaluation A/c
2. Partners' Capital A/c
3. Balance Sheet as on 30th September 2020, assuming other Assets and liabilities remaining the same.
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The balance sheet of Thapar on 1st April, 2019 was as foﬁws:

Trade payables -~
Expenses Payable X- “ibmd dut

Capital <—

15,00,000 | Plant & Machinery L 30,00,000
1,50,000 | Fumiture & Fixture 3, oo,@ T 1500 o>
Hu Ly 50,00,000 | Trade receivables™ 14,00,
Cash at Bank 6,50,000
Inventories — 13,000,000
66,50,000 66,50,000

During 2019-20, his Profit and Loss Account revealed a net profit of ¥18,30,000. This was after allowing for the
‘%‘ﬁ

following :
 —

(a) Rent received from property let out ¥3,00,000.

e

{b) Depreciation on Plant and Machinery @ ;U% and on Furnifure and Fixfures @ 5%.

* (©

A provision for Doubtful Debts @ 5% of the trade receivables as
But while preparing the Profit and Loss Account he had forgotten to provide for (1) outstanding expenses fotaling . &F
To 0l

¥1,80,000 and (2) prepaid insurance to the extent of & 20,000.
T I Bt - e

>

e
His current assets and_liabilities on 31st March, 2020 were: Inventories & 14,50,000; Trade receivables

——

= < 20.00.000; Cash at Bank ¥ 10,35,000 and Trade payables < 11 ,40,000."

During the year

he withdrew ¥ 6,00,000 for domestic use

——

PaL Q k-

TR TS * e

| Exr

80,000 —

D Jo.000
0D NS vrang- IOOO
Draw up his Balance Sheet at the end of the year. _E) b:m_}\_la Q000
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Trads %a:], D400 | Inv. 1450,000
Trady R:.c. - J0R0,000
Cab - 5000000 G Prov. or DO (100000) 1900000
Add: NP 670000
Len Srauﬁ (_G_QBDQJ 60.1&000 Cou‘nu)( "Jcmk 108%‘000

Q\t?) A 20000
Ols ‘
l EXF i PEM - 3000000

wa)e,‘; (200000) 100,000

F\.\ln &.L‘,\'b 9\%8000
1290000 1340000

Debit Balance Amount Credit Balance Amount
Furniture — 3,400 | Capital — 1,00,000
Building 2 21,700 | Discount received 2,000
Drawings - (agp (-> 4,200 | BankLoan 10,000
CashatBank - @& 2,470 | PurchasesReturn 970
Wages (500 Tfad > 31,250 | Sales 1,91,940
Discount Allowed - 9 Q) . 2,640 | Sundry Creditors 12,450
BankChagres — P& 90 | Provision for Doubtful Debts , 8001 uov. Qv 80D
Salaries +500 — gL 5,610 Bl x | PELOrGod ~
Purchases (-2 B3000- T, [ 1,32,700 == T bad debt 1300
Opening Stock — Trud. 40,200 -
CashinHand @, 150 - PALOr \4oo
SalesReturn  _ Sali-) 1,250 To prov 1400
Carriage Inward — Tyqd. 3,400 o —
Machinery — 14,6001 +Son- 15100 "0 (ISID)
Sundry Debtors — —— 43,800 [&> 200= 42500
BadDebts — 1,000 - +200: 1300 —

AAnsurance - VAL Qv 1,250 | - 250: 100Q
Rent V) . 2,450
Bills Receivable - Q. 2,500
Advertisement —+———1— 3,500 [— $p0 - 2000
3,18,160 3,18,160

Prepare Trading and Profit and Loss Account for the year ended 31st March, 2021 and also the
Balance Sheet as at that date after making the following adjustments:

(i) Closing Stock at cost was Rs. 35,000 whereas its net realisation value (market value) was/I.{_s“\%o‘OO o
30,000. 1. Trad) R—l Cr: ;l_._%\s
e . e N s J =
(ii) Wages included Rs. 500 paid for the installation of machinery. i —
"Lfﬁ] Provision for Doubtful Debts was raised to Rs. 1 400 and further bad debts of Rs. 300 were 2ad debk
written off. Ned fov AT To Ocbohov

6] In the month of March, 2021, a fire broke out and destroyed stock to the value of Rs. 8,000. The
insurance company adm itted claim for loss of stock of)xs 000 only and the amount was paid in
April, 2021.

./ﬁ']/Outstandlng salarlesa/vwlig Rs. 500. - Laab

(vi) Prepaid insurance was Rs. 25( 250 and prepald advertisement Rs. 500.
- —————— —

(vii) Machinery was depremated by 10% and furniture by 15%.

1. Total Road debbh
2. ?MO\).t)YQDD‘ old

2




1. Total Road debbh
?MO\)-tJY DD- old
3. New' Tuov.

%J.Shce&
=> Forol bad deb), - 1200 i
> old puov.  Bod — Oebton - U800
+ Ned pwv 900 1900 > baddebh- L300) -

T <> prov. Clypp D 42100
Ab. Los ol Snuento =
I K] = by %ﬂ”c Qr 000 furch A D

To ‘Pur(h P«\ 3000

Loy «—P2L A O ?aoOo/
qs“i_ SnaCom DY ‘SOO'D

o Lo \::j kn c 80‘00

fhe following is the schedule of balances as on 31.3.20 exiracted from the books of Shri Gavaskar, who carries
on business under the same name and style of Messrs Gavaskar Viswanath & Co., at Bombay:

Cashinhand - B\ 14,000
Cash at bank — B\> 26,000 :
__{-Sundry Debtors 860,000 | xS} = <@
Stock on 1.4.2019 — Trodiiny 6,20,000 <
__LFamiture & fixtures 2,14,0004 > 14000
_{Office equW 1‘,60,55@!—‘10.000
/ﬁy} g el
orCar 2,00.000
| sundry creditors — Lick 4,30,000
Loan from Viswanath ————iab— 3,00,000 [%12 x 1\
100 (2
—Provision for bad debts 30,000 e
_|parchases ——— C v )| —14.00.000 — (10,000
—{-Parchase Returns 26,000
Sales 23,00,000 |-14o00
Sales Returns_— 42,000
Salaﬂ'gs/ 1,10,000 .SAbOo ¥ L l—"g—-_ﬁ
{/;Re/ﬂlor Godown 55,000 +1\000 55000
_{Thterest on loan from Viswanath 27,000)| - GQC_EE_QL 14
Rates & Taxes — $&L 21,000 -
Discount allowed to Debtors - “OF . 24,000
Discount received from Creditors —Cf" . 16,000
Freight on purchases — Qivet - <frod. 12,000
Carriage Outwards - P &L 20,000
Drawings — 1,20,000 82000
Drintinn and Qtatinnany P2 1R NNN




Carriage Outwards - P &L 20,000

Drawings — 1,20,000 +{ 2000
Printing and Stationery - P&\ 18,000
Electricity Charges — P& 22,000
| Unsurance Premium —55,000 } 4000D =| 15000 |2
General office expenses PAL 30,000
Bad Debts _— /m) 212000
Bank charges — ?&L 16,000
Motor car expenses — f_QL 36,000
Capital Ale ___— 16,20,000
TOTAL 47,22,000 | 47,22,000

Prepare Trading and Profit and Loss Account for the year ended 31st March, 2020 and the Balance Sheet as at
that date after making provision for the following: o

7
[ .// Depreciate: (a) Building used for business by 5 percent; (b) Furniture and fixtures by 10 percent: One \ (D
steel table purchased during the year for 14,000 was sold for same price but the sale proceeds were S“T" N
wrongly credited to Sales Account; (c) Office equipn equipment by 15 percent; Purchase of a {ypewnter during ° L‘"n'%x

the year for ¥40,000 has been wrongly debited to purchase; and (d) Motor car by 20%.
/ Value of stock at the close of the yea was ¥4,40,0

* /;T/ Two month’s rent for godown is outstanding. \
_A4~" Interest on loan from Viswanath is payable at 12 percent pecannum, this loan was taken on 1.5.2019. — ?.:1\?, \Ig

_/5/ Provision for bad debls is fo be maintained at 5 percent of SJ.‘t/ indry Deblors.

(‘OQ![ g
./ﬂ/ Insurance premium includes ¥ 40,000 paid towards proprietor’s life insurance | p?J.‘:'cy and the balance of

\_//- the insurance charges cover the period fron{ 1.4.2019 to 30.6.2020:
15m | 2madvoene
Trading A/c
For the year ended ..o
Particulars Amount Particulars Amount
130 ¢ - 4300000
Topurdn - (40000 «hl  (wod)
¢ Reck (40.000)
< PR (Seom) b‘j o Shck 440,000
Profit & Loss A/c
For the year ended ...
Particulars Amount Particulars Amount
To 9&‘)

- Buid. 30.000
B Lu'.'nql'&x 30.000

- OQU" 30000
- Mok Car 40000
To Ren}-  SSo00
M- 0)s 1000 66000

To 9n} on Loon- 21000

¥ IINEEER



L SURRBY

Add- Ols on¥

To prov-
bod debh

To s
GOOraw .
(G 9\(@’?

LAMAAd

To 9n} on Lesn- 21000

be NN
20.000
¢ old brov - 30,00

4 New pr 43op0

m.

~

6900

55000

40,000
_2000

33000
232000 -

12000

AAVA A

\

Balance Sheet

ASON -

Liabilities Amount Assets Amount
Building - 690000
Co H—o& C—woesj 30,000 510.000
(" rO\Di )
(120000 +yo00) Funm€lix- 214000
©Sale  ({uooo)
© Det; (Q0000> 80,000
O\&fv - 16030
4 t\(ridn 40.000
O\s Ak on Logn | 6000 Dc\) Qoow) 110,000
0\3 Km)c QOO Mol cov  Qoo.90
P hooow {60,000
C\os\n3 shodt | 440,000
Sur\drl Debt -860.000
> provilsi oo U2o00) BAIN000
=
q,«?e.id Ins. 3000
Cosh in hand 14000




A/
Moiw\cav=mj Ae | St

RTP | 2pm

—_—

W——=X



23 November 2023 11:03

MOnuE:\d'url\’:j j’\c
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e M.
e

ke Rﬁ@ l\’\atcnal Congurmed
@)f).S’md& 10,000 )\.ro.ooo
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- CL 8ok 0,000 (20000
G0.000
2 (Dll"cct \/\\Q 1)
L.Per unit (0.000 g_rli_h @\D - £100,000
o Other Mono c.sr\)rmj &{K
Btra&t g'n.dwub
R Plart & Madhy o
0 - Iont ac
t1—\‘2Pe\’ umk Def
Hire charys of P4 8 et
¢ argt O
J L? p,]")ozvr unt‘? - Su?ewlsm Su\m

CSG\GIJ - OLL‘LJ ?&Lﬂ\

- FO.(.*NJ Rent, C\ec’mub
- Stowy’ & spars



1 VoL, Qe o

i FO.()K)\'J Renl, eleckvici
= 8{‘0&% &.S A
— Cani aj( BY\VO :

e

y

l Fg; ] _/. d%’o{l&(}
o g
.
ﬁh\ioo%gooo / 90.000
130000 —— (" 140,000
9_(:
0‘3 Sh)o\?\— DF.
U_'_é__i‘boR- C/__.r_ B i
- %JIT)\’DdoCC/
T, Ny g
= DMlg- Cr Redum ot
g & S
e M_S._r\_uL, M~
Dv.
1o Rawd Mab cons b:] .\ ]
o Wagqes bb b:j-PmdocI
T - iNg
To Mlﬂ'u\) kzjc(jﬁfi by
0 OE ok Wif \;n %oodod
X XK




XXX | ’

G
o ﬁf@f’?&]}? ;| Bydenk
bj Ral, H‘\Q_

Tg\nj ﬁr\( zeh Qil'\-GNo&n

1 Mr. Pankaj runs a factory which produces motor spares of export quality. The following details were
obtained about his manufacturing expenses for the year ended on 31.3.2020.

W.LP. - Opening 3,90,000
- Closing 5,07,000
Raw Materials - Purchases 12,10,000
- Opening 3,02,000
- Closing - 3,10,000
- Returned 18,000
- Indirect material 16,000
Wages - direct «” 2,10,000
- indirect — 48,000
Direct expenses | - Royalty on production 1,30,000
[- Repairs and maintenance - 2,30,000“
- Depreciation on factory shed ——— 40,000
- Depreciation on plant & machinery 60,000 |
By-product at
selling price/ 20,000

You are required to prepare Manufacturing Account of Mr. Pankaj for the year ended on 31.3.2020.

Manufacturing A/c

For the year ended ............

Particulars Amount Particulars Amount
To oP. WP 320000 bj QP 501000
To Raw Mot cons.| 1184000 | by  By-prodet | 20000




s e - TP BT
To Raw Mab cons. | 1184000 b %‘Pl’odu(i 20000
(202000 + 1210000 J
- 210,000 -18000) bj ‘Fméwj 3t |1R1000
Vo Mndivd Mat | 16000
To Divet Waqen | 10,000
To Indival aco 48000
lo Ro:jo“:s \%QDOD
lo Rep® Mot | 230000
To D"g | 90,000
2308000 23D 000
T 7 |
(b) On 31 March, 2021 the Trial Balance of Mr. Black was as follows:
Particulars Debit Particulars Credit
(3 (3
Stock on 1/4/2020 Sundry Creditors ~—————1,50,000
Raw Materials 2,10,000 | Bills Payables 75,000
Work-in-Progress — 95,000 | Sale of scrap 25,000
Finished Goods - 1,55,000 | Commission received 4,500
_{-8Tindry Debtors Provision for doubtful debts ——> 16,500+
Carriages on Purchase 15,000 | Capital account 10,00,000
Bills Receivables — 1,50,000 | Sales —s| 16.72.000
- Wages 1,30,000 | Bank overdraft 85,000
L-Salaries 1,00,000
Telephone and Postage—— 10.000 |
Repairs to office furniture__| __ 3,500
Cash at Bank — 1,70,000
Office Furniture > 1,00,000
Repairs to Plant 11,000
Purchases —— 8,50,000
Plan and Machinanc—___ | s 7000004 - _ _ W




nopans w riarn [ rr,vuv

Purchases 8.50,000
i ¥ ;
ﬂan and Machinery——1> 7,00,000 T u5000 Wb
| - 60,0003~ 15000 AL
Vighting 13,500_
General Expenses ——————15.000 \q ©00

30,28,000

30,28,000

The following additional information is available:

Stocks on 315 March, 2021 were: Closing

Raw material —
Finished goods —
Work-in-progress —

-

71,62,000
&1,81,000
78,000

_-< 9,000 and|¥ 20,000) Machinery is to be depreciated by 10% and office furniture by

Salaries and npafd for the year ended 315 March,2021 were respectively,

_7%%. A provision for doubtful debts is to be maintained @1% of sales. Rent is to be
charged as td(3/4 to factory and 1/4 to offi icdy Lighting is to be charged as to 2/3 to

factory and 1/3 to office.

Manufacturmg A/ c

For the year ended ...

Particulars Amount
To Roua Mat cons

o& - 210,000

+ Purdh %80000

st -(162000) B98000

1o LWage- 120000
l-]d.d:oL qJ 20000 150000

i Qe‘: on Mach 710,000
To Ren't (6om00%3y)  USo00D
To ﬂhl—nmj G400

To op. WP Q5000
To ca¥ 13 1S000
To Repan-h Y:lor& 100D

Particulars Amount
bj cL WiP 18000
45000

bj Sale 0\ 30’G‘>
bj graclma Pq‘ 1 A0,000

|




Trading and Profit & Loss A/c

For the year ended .............

Particulars Amount Particulars Amount
To o?.shdfg 15Sboo by Qalee |612000
To Mg M. 40000 byclgbk 18000
To &P 503000
bj P bld 508000
To Salerin - 1000w
+0:%l. Qoo (09000
To Qe\i on \?:m. 1500 ‘Qj ComM mMision 4oL
To \)m -kﬂ’d \a*\u\ 220
‘To Rent (Lo.ooox'lw) 15000
To Lightm ysovo
To Te hom“]QFO& 10,000
To "\chmth\, 3500
To Gien Cx‘g 15000
To NP 3411%0 o
Balance Sheet
Liabilities Amount Assets Amount
Cl chacbnl R (A ADN

S



Liabilities Amount Assets Amount
Clstocko| RM 162000
Co\%a 10,090,000 Clsto| Pen 121000
TN UTRD | 1341180 | Clghdk o\W\P 18000
Plank g«Mnc\\ - 100.000
¢ D¢ (o) | 630000
Farn - 100000 o
© Db (15000 2,500
Bonk 0D 85000 \)
Debton - 4ot
Bil, 3}>a3, 35000 Cprov. (6120) | 223280
O\s Solcua Qo000 E)\\\a R('C" 150,000
O\S Wag. 20,000 Cash at Bonll 10,000
Sundu\\s Cred. 150,000
|6867&0 1686180
A———XK

PYOITP- Hinal A\c
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24 November 2023 10:46

(b) The following are the balances as at 315t March, 2023 extracted from the books of Mr. Shyam.

Luojoco X ?
—rPlant and Machinery +4 00 39,100 | Bad debts recovered ————— 900 Income - PAL
Furniture and Fittings — 20,500 | Salaries —  ——> 45,100 —e2L _C,___f__
|lw®  —fBank Overdraft ———-—@I Salazs payable P—“m—m&——-—: 4,900 @\s
- Capital Account — 1,30,000 | Prepaid rent ———— fi[](‘}_-E—3 Sal.o Q\h
1%:_,00 Drawings —l-m? 16,000 | Rent 8,600 P&L T sa\,%q‘j ;
| Purchases &> 5150 > 3440 390,000 | Carriage inward——————— 2,250 [T -
| Opening Stock 090165V 64 500 | Carriage outward 2,700+7 &L
Wages — Q0D ~ 24330 | Sales (> 6150 (->3u30 430,600 |-~
3 _Provision for doubtful debts € _Adveriisement Expenses + 1690 6,700 PAL ~
L\‘},/O. Provision for Discounton —__{Printing and Stationery 2,500 fI
E/ debtors —12(27 Cash in hand 2,900 |
1‘1@0¥undry Debtors ——=———+——— 24i],%.§- Cash at bank 6,250 | P
Sundry Creditors ————1_ 95,000 | Office Expenses 20,320 |P&L
Bad debts sk - (12,200 ) Interest paid on loan 6,000 ---_i’_g_-g

Additional Information:
vl
_A Purchases include sales return of 5,150 and sales include purchases gﬁ;m_ of ¥ 3,450. —
/ Goods withdrawn by Mr. Shyam for own 9nsumption % 7,000 included in purchases.

. o
@5)@ Create a provision for doubtful debts @ 5% and provision for discount on debtors @ 2.5%. Ia) Qf 2450
AC —_—— R == Sq\e,, : >

Free samples distributed for publicity costing ¥ 1,650.
e AT £ ; : To purch R 3usD
._%" Wages paid in the month of April for installation of plant and machinery amounting to ¥ 900
were included in wwt. T
6. Bank overdraft is secured against hypothecation of stock. Bank overdraft outstanding as on Q\ - D fav 'ILI;JO (Dr 1000
o

*
" _31.3.2023 has been considered as 80% of real value of stock (deducting 20% as margin) and TD h Al 1000
after adjusting the marginal value 80% of the same has been allowed to draw as an overdraft. ?

T Depreciation is to be provided on plant ande.a, and on furniture and fittings 5 Qd\l ; (Df_ \b"‘.:'o

o
a)Sales Rek Or. 5150
To Purdq. 5150

Prepare a Trading and Profit and Loss Account for the year ended 315! March, 2023 and a Balance lo Funh' H’Sb
Sheet as on that date. Also show the rectification ew (8 + 12 = 20 Marks)
Z i 4. P&m Or. oo
Rl Towages 900
3. a fuw | DD 2200 =
To bad debh 2200 Deloton - Q4n 000
@ prov 0D C 12000 v’
b. (?gl, 'Pf\c (D\‘- 1800 ©) Emv |)Cx e
To P)-to\}. oy OP 1200 Dise . ( S100) 222100

?MOU»L{)\’ Disc.on (Qdc:hm— aUlO.OOD
(\doov)

228000

&

Y. PaL Or 2450
To prov l)or “Dis. on debtpr, AASH




“. roev Wy oy =
To qu- l)or “Dis. 0N debtor AASH

A223
SJCOLK— o
v I O\ltrdmvr Livnit - &')(, %20 } xg_Q
\DO |00
AKED ¢ & . 160000
— 100 |OD
X 5 360000
ClLehock
e
‘/(;«)/The trial balance of Sahil as at 31st March, 2021 is as follows:
Dr. Cr.
T T
Sahil's capital account = . 191,725
Stock 1¢t April, 2020 1,17,000
Sales z-"“ 9,74,000
Returns inward’_ =) \ K 21,500
Purchases (—2> 1500 = |19 OO 8,04,250 .
Returns outward outward - 14,500
Carriage inwards — Trad‘ 49,000
Rent & taxes — L 11,750
paL < Salaries &wages . ~ 23250 | —=
o Ty debtors—————2200 s0.000(kS28% ) .
| sundry creditors - 250D 41000 i 37,000
- =
_|Benk loan @ 14% p.a. - @;—-
Bank interest o +4230 2750} 1600 -
_Printing and stationary expenses 000 6,000 )—ajﬂop—ﬂ 3—6% "> G000
_Bank balance 20,000 - o=
| piscount eamed ——  PEL-Cf. : 11,100
_| Eusniture & fittings 1250 12,500 -
| Discount allowed ——P2\ ) 4,500 g
General expenses ?gz'.g—-o 28,625 . Sund‘ Qeltor. - 60.000
Insurance — T &L 3,250 | Bue L“’“" Sund -(2500 )
Postage & telegram expenses 2.1 5,825 - EINWY
Cashbalance 950 : s Veov. wPD (BT
Travelﬂp@nses 2,175 N (2 ov DS QOL)
Drawings + (SO © 75,000 : 53622
12,78,325 12,78,325 L
b
The following adjustments are to be made: Q815 / <728 suey
‘L% Provision for bad and doubtful debts be created at 5% : 5% and for discount @ 2% on sundry .- @

debtors.
42) Personal purchases of Sahil amounting to ¥ 1,500 had been recorded in the purchases day — Ofﬂ@‘“j LQ-
book. To bur

_At3r Depreciation on furniture & fittings @ 10% shall be written off.

o~ [IEN ]



~AZ] reisulial puiuiiascs vl odaiil dIIIUUIIUIIS w s __Q_\_JU Iau vgell IguUiugu il uie puiviiascs Ud)‘ —_ = %
book. — JTo Jsmuu.
_At3r Depreciation on furniture & fittings @ 10% shall be written off.
Included amongst the debtors iue from Sunder and included among the creditors — Creditor
% 2,500 due to him. iy === To Qebtor
57" A quarter of the amount of printing and stationary expenses is to be carried forward to the
next year. »w‘) xp Q000
To E}\E) 9000
467 Credit purchase invoice amounting to ¥ 1,000 had been omitted from the books.
Stock on 31.03.2021&3,_9@&0_0_. Ls ?ufch Qf
(8) JInterest on bank loan shall be provided for the whole year. ToCreditor

You are required to prepare Trading & profit and loss aoconﬁ_f'or the year ended 31.03.2021.

—  bank 3t Dv. s~
To of. 3 Yo — La}o

- Max & Co. employs a team of 9 worker who were paid I 40,000 per 8-
/ month each in the year ending 31% December, 2018. At the start of

2019, the company raised salaries by 10% to ¥ 44,000 per month each.
————— T e —

On 1* July, 2019 the company hired 2 trainees at salary of ¥ 21,000
per month each. The work force are paid salary on the first working
day of every month, one month in arrears, so that the employees
receive their salary for January on the first working day of February,
etc.

You are required to calculate :

E.,_ ' ount of salaries which would be charged to the profit and loss
for the year ended 31* December, 2019. .~ .

(@) AmotacatGui saies i 013D~
Outstanding salaries as on 31 December, 2019. «~

1y Qworken (D 4uo0d 2 = 4152000
Q trame @ 21000 %6 352000 500uU00D

D D& 18 — 4 workers @U000Q E 360-?0‘3
Jan 200G - Nov 209 - § 0orken @ Yuooo xWh = 4356000
:Yu.b 2014 - Noy 2 t\’dmm@ A0 XS Q‘U\ODD

4926000
N :
Dec l\l\?.o!q 32[\9_\ 19
. Dec 20l
U “ LO{)TR( s@yaooo-  F16000 »

2 *raine @ 21000 - 42000 U2R006D



) 4 wor c‘s@qQOOO‘ 5516000
! 2_‘\:(0'13\&@’)_\000 - Y000 U2%000
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